p Ac E Advanced Booklet Solution

IIT. MEDICAL Kinematics - |

Inchapter Exercise

1.
——aACc=s——
_S S
IiAB—E—”—BC:2—|
Given V,,, =90
V,s =60
tAB=Sﬂ
VAB
_Sl2_s
"8 60 120
V. =?=Vlet
tBC=S£—>S/2
BC
S
.. ==
BC 2V
tag Tlgc =Txc
S, 0
120 2V
Also V,, :—:90:%
S
=>t=— 2
90 —@
S S S 1 2V+120
>t=—=—t—=—=
90 120 2v 90 240V
= 240V =180V +120x 90
60V =120x90 = V =180
2.
——st—]
——s/3—}—s/3 3
_| -
H—@®—O0—0
V; =u
tAB:SAB
VAB
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B 3w
tap =tag Tl +1cp

S S S
= 4+ — 4=
3u 3V 3w
S [vw+uw+uv]
3 uvw

S ~ 3uww

s
Avg speed === -
t s[vw+uw+uvj UV -+ UW + Uv

3 uvw

———2s=Ac '
——~AB=s—]}—BC=5—r

® ® ©

30km
Vpg=——
B hr
S
Lae :%
Ve =V
S
tec :v
tAC tAB +tBC
J \2
10hr = i S @
30 V
Vg = Stou =40= 25
ttotal 10
(40km/hrgiven)=S=200_____ (2)
10— 200+200:> 200 —10—@
30 V Vv 3
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200 30-20
- — =
V 3

~200%3

=V =60km/ hr

(@) half the time is covered with V, and other half the time is covered with V,

I AC=St=t — |

® ® ©
| || |
| | 1 |
tAB:t/Z tBC:t/Z
VAB = V1 VBC = Vz
SAB = VABtAB SBC = VBCtBC
_ it _Vit
2 2

Sac =Sas +5g¢
e Y (V)

2 2 2
o)
2 Vi t+V,
t 2

Avg.speed =§
S 2V,
S(V,+V,) V,+V,
2V,V,

(b)
|— AC=S5t,. =t —|
® ® ©
| |1 i
Sgc S/2
Ve =V VBC:V

2
— t Sﬂ — S
ove V2V, v, 2V,

I |
| SAB:S’tAD:t I

I SABzg_“_SBD:%’tBD:tl—'
@ ® © ©
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AB:S/3 tec Z tCD:T
VAB = V1 VBC = Vz VCD = V3
t _ S _ S S.. = V..t S = Vot
AB VAB 3V1 BC BC™BC CD CD*CD
_ V,t, _ 3V.t,
4 4
Total time =t=t,, =t,; +t5 Sep = Sge +Sep
S 8S 2S V,t, 3Vt
3V, 3(V2 +3V3) 3 4 4
On solving t; ___8
3[V, +3V,]
S (V,+3V;)+8V,
3] V,(V,+3V,)
Avg speed = S = S
t S| (V,+3V,)+8V,
3 \/1(V2 +3V3)
B 3\/1(V2 +3V3)
TV, +3V, +8V,
o |
| Spg =S, =t |
t 4t
I tABZE ||_SBDzsl’tBng |
@ ® © ©
3, S
VAB =V, S :T S =Zl
ty=t/5 Vg =V, Ve =V,
Vt S 3S S S
= Spg = Vaglas == toe =2 ==L t S
AB AB*AB 5 BC VBC 4V2 CD VCD 4V3
STotaI = SAD = SAB +SBD tgp =tgc +lcp
_ﬁ+ 16V, V,t 4t _ 35, N S
5 5[3V,+V,] 5 4V, 4V,
_t[V(BV;+V,)+18V,V, | 4t s [3V,+V,
5 (3V +V. ) 5 4 V V,
16V Vit
Y 5(3V,+V,)
S

Average speed =

t
t (VL (3V;+V,)+16V,V,)
5 (3V;+V,) 3V, VY, +16V,Y,
t ~ 5(3V,+V,)
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Vboat = Vb Vdownstream = Vd = Vb + Vr
\/river = Vr Vupstream = Vup = Vb - Vr
| V,=V,+V, t,=25
' PQ=S 5
t, =5V, =V, -V,
From downstream, S, = V,t,
=S=(V,+V,)25 (1)
From upstream, S, =Vt
S=(Vb —Vr)5 I ()|

=S[V, +V,]25=(V, -V,)5
V, +V. =2V, —2V. =V, =3V,
As, S=(V,+V.)25=(3V,+V,)25=5=10V,

Due to monsoon Last

V. =2V V, =V, -V, =3V,
=V, =V, +V, =3V, +2V. V,, =V,

=5V, Sy =Vt =S
From 3 10V, = V,t,,

S, = Vit, =t, =10
S=5Vt, =10V, =5V.t,

=t, =2

u=0

V:180km/hr:180x%:50m/s

t=25sec
V—-u 50-0
a: = —
t 25
V2 —y? B 50% —0°

20 2x2

=2m/s?®

u=126 KM _126x 2 _35m/s
hr 18

V=0,S=200m
VZ-u?  0?—(35)
2S  2x200

—% =-3.0625 «Acceleration

a=

Retardation =+3.06m/s?
~V-u 0-35

t - ==
a

~ _3.06

S )

—2V,

=Vt

Website: www.iitianspace.com

online.digitalpace.in


http://www.iitianspace.com/

10.

At=0 B C
i P t=0.2
 «—Constant — 1 retardation
i Speed ;
D H ! g E ! g
@U:Mkm/hr 1 Vg =15m/s
=15m/s ' «—
_ 2
| | a=6m/s I
[ | |
2 \/2
AB=S,, = V,,t BC=SBC=V°2VA
2 2
_15%0.2 _0-15
2x—6
12
—20=u+2[2(7)-1
S, = 0—u+§[ (7)-1]
20— u+1R (1)
2
a
Sy =24=u+§[2(9)—1]
24=u+% ©

From (1) and (2)
=a=2=>u="7

S

lsth

a 2
= u+§[2(15)—1]=7+§(29) =36m

Sznd =12 S4m = 20m

Sy = u+a(2—lj=12
2
u+a[4—l}:20
2

sa=4m/s®, u=6m/s
Distance covered in 4 sec after 5" second =S, —S;

=(6x9+%x4xa2]—(6x5+%x4><52J

=216-80=136m
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11.

4
v

Sie =3(2)+%4(2)2
S, =14m

Position =14+5=19
Ve =3+4(2)=11m/s

12.
S, _tve S,

U, =72km/hr V, =0V, =0 U, =60km/hr

—20m/s _50
3

“«—T-2

T-1— | T, s T,

«—
Aa=5m/s’ ®? a-=

=5m/s?
B

«—380m

‘§1‘+X+‘§2‘ =80

02 (20’ 250

2(-5)

S, = =40+ X+

‘280

=40m

0*~(50/3)" —250
2(+5) 9

S, =

u® 98
2p 2x9.8
iy t,=2=B o5
g 98
(iii) v? =98° —2x9.8x196
~v=75091
(iv) v=98m/s

V) _I__2_u_2><98_
g 9.8

13. (i) h,, = = 490m

20s
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14.

15.

16.

17.

18.

Assume T =+ve "y

u=19.6 m/s T '
a=-9.8m/s? u 6"’
s=-h A7
t=6sec
= —h=196x6+%(—98yq6f h
—h=19.6x6-9.8x18 |
h=19.6x3 /
=58.8m

u? 2u 2xu
Ny =—, T=— T=4=

29 g 9.8

19.62
S.u=19.6m/s h =—""=19.6m
mX 2x9.8

Height of body after 3 S=

S=19.6x3—%><9.8x32 =14.7m
Distance below highest point =19.6 —-14.7 =4.9m

Taking downward positive
Packet is going up with 9.8 m/s at a height of 39.2 m when it was released

39.2=-9.8xt+4.9t?
st=4sort=-2s, St=4s
Also v=-9.8x9.8x4=29.4m/s

For A,S, =20t —4.9t?

For B, Sz =4.9t% + 20t

Sp +Sg =40 =40t

~.1=15,S, =20x1-4.9x1* =151m

u=0,g=9.8ms>

Snth = u+a(n—1j
2

24.5=0+9.8[n —1}

2
n=3
S=0x3+%x9.8x32=44.1m
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19.

A stonel Top -~
l 20m
t window —¥— stone2
(h - 20)
(t-1)

v
/7777777777777 77777777777

1
h :0><t+5><0><t2 = for 1 stone

t=
5}

h—20=0><t+%><0><(t—1)2 for 2" stone

enef

- h=31.25m

2

20.  u=0,g=10m/s? s=45m,t="?

g \/ 10

Time taken by sound to reach to of well =3.125—-3=0.125s

Velocity of sound = 45 _360m1s
0.125

21.  Safety depends on velocity of reaching ground.

vV =,/2gh
V, =/2x9.8x2=+/9.8x4  —>Earth
v, =2x1.96xh —Planet

V, =V, =safe velocity

.9.8x4 =+/2x1.96xh
- h=10m

22,

0.4m

0.5m

window

VPC

ForAB, 04= %x 98xt,%, .1, =0.28s
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For AC, 0.9:%><9.8><t22 -1, =0.42s

Time to pass span of window
=t, —t, =0.425-0.285=0.14s

1 1 2
=ut+=0gt“ =0x3+=x9.8x3
y="ty 29 2

=44.1m
Final vertical velocity v, =0+9.8x3=29.4m/s

Final horizontal velocity v, =u

Resultant velocity makes 45 with horizontal

o V .
t,,45 =7 :ﬁ
Vv, u
Su=294m/s

lOOO:Oxt+%x9.8xt2

flOOO 100 100
4.9 7
Horizontal velocity of aeroplane

—500km / hr =500x — = 220 /5
18 9

Distance of missing

Horizontal distance covered when it strikes ground = ? 100 =1984.13m

Horizontal velocity at any instant
V, =u=9.8m/s
V, =9.8=0+9.8t

St=1s

§=90-30=60
_u’sin®0 _ 30%sin®60
29 2x98
2usin® 2x30xsin60

g 9.8

2 qi 2 o
R u“sin20 _ 30°sin120 _79.53m
g 9.8

=34.44m

u2
R0 =— =100m
g

u? =100g, u = \/100g

2
ho -4 100856

max — 29 29
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28.

29.

30.

31.

32.

_u®sin®0 ,_ 40%sin”0

H

29 2x9.8
sin20=0.306, ..sin®=+/0.306 =0.554
c0s0 = \/1—sin? 0 =/0.694 = +/0.694 = 0.833

R =

u’sin’@ 2u®sin@cosd  2x40°x0.554x0.833

g g 9.8

u?sin 60
g
? 3000x2

u
™ g 3

3000 =

= 2000+/3 < 5000m

_u?sin’0 _ 2u”sinBcosO
g g

u’sin’0
4dmax =
29

Dividing Ll
12

12

_ tano®
4
~tang=24 X0
12 50

0.8

0=tan"*(0.8)

Here H . =19.6
=39.2 ~R=784

T |

e =1tan6
R 4

tan o — 4H _ 4x19.6 1

R 78.4
2 - o
0=45 —R=U4SN0 -0,
g

:>u:19.6«/§m/s

(39.2)° xsin2 @

2x9.8
2 .2 2 2
s BT (02T

2
Adding 24+50 = (239;2)(sin2 0+ cos? 9)

x 9.
2
24 +50 = 39.2 =78.4
19.6
S H=14.2m
4+50=64.2m

=150.7m
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33.

34.

35.

2 5in? 4%sin*(90-6
R, = Sin e,R2= ( )
g g
~ u®sin(180-260) u?sin26
i g g
. Rl:RZ
H _usin®0 H _ u®sin?(90-6) u?cos?6
b2 ’ 29 29
u? uz oo
H, +H, :—<sin2 0+ cos® 6) = —, which is independent of 6.
29 29

0=90-30=60
u, =ucos60=19.6
_ 196
cos60
2

_u’sin®0 (39.2)° (ﬁ

= x| — | =58.8m
™2 2x9.8 2}

_u%sin?0 (39.2)° xsin120
9 9.8

39.2)" 3

:( x—=135.8m
9.8 2

U =39.2m/s

H

R

Speed of plane =720km/hr
=200m/s

600sin O ' 600

600cos0
200xt =600cos 0t

-.Cc0S0= %,6 =cos™* (lj

3
mxT29  2x10
=16000m
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'y

ucos53

Ly

v

S/ /S
800 = —U c0s53x 20 —5x 20°
S.u=100m/s

2 2
h_ =800+ 00 XCOS"83_gg4,

2x1
Horizontal distance travelled by bomb =uxt
=usin53x20=100x0.8x20=1600m
When bomb just strikes ground
vy, =usin53=80m/s

=-uc0s53+10x20=140
v =80i +140]
Pi =103 xloo[zo cos30i +20sin 30]}
Pf =102 xloo[zo cos 3oi}
Pf —pi =10 xlOOxZOx%] _

=1j=1kgm/s magnitude

fiom i |

Pf —Pi =—mv+/2j = mvy/2

As the projectile returns back to the ground with the same speed so K.E. doesn’t change between the
point of projection and the point where the body strikes the ground.

At highest point, v, = ucos® at y:gmax,vy2 :uzsinze—ZQh%

" _u”sin’0

max 2g

v,? =u?sin’ 0-29 u’sin®
2 29

v :usine

YW "5
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41.

42.

43.

44,

h

max

2

2 ia2
u“sin“o
= V.2 +v,? :\/uzcosze+—
\/7 ucoso
\/ u’sin?0

Resultant velocity at y =

u?cos?0+— > =
2 u? cos?
”5 u?cos?0+u?sin?0
~tan’0=3 S tan0=+/3

0 =60

Vag = Vo -V =10-6=4m/s
Vga =Ve—Va =6-10=-4m/s

t—i— 200m
V, 42X£ 30x5
18 18
_200m
20m/s

Let x be distance between drives of train A & guard of train B. ug—u, =0

~a,=1t=50,u, =0

X:0><t+%><l><502 =1250m

At instant B decides to overtake A,

V, =+10m/s
Vg =+15m/s
Ve =-15m/s
+15m/s +10m/s —-15m/s

H
|E|

3
y

“~

1000m i’ 1000m

Time C require to cross A = 1000m | S = 40s
25 |V,

In order to avoid accident , B must overtake A in time less than 40 s
~.Ugp =4B-4A=15-10=5m/s

Sga =100m

aga =a,t=4as

S:ut+1at2
2
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45.

46.

47.

48.

49.

JDOO:5x4O+%xax402
s.a=1m/s?
Let v be full speed of man. He gets into train when his speed become equal to train.

v=0+at
Sv=2t ex 1

Now th=9+(0xt+%x2xt2:| ex 2

2t> =9+12

S t2=9,t=3s
v=3x2=6m/s
$=6x3=18m

V :4;80:60km/hr, V, :4—80:4Okm/hr
A g B 12

=20 20y gy
V, 100

r

A will have moved 60x 4.8 =288km

20 = 200 10— 200
VA —Vp VA +Vp
V5 =15m/s, Vg =5m/s

(@) Sga =100,45, =50,
aga =O.'.S:ut+%a+2

..100=50x%xt..t=2s

100m
4g =50m/s
(b) Sga =100,454 =50—(—25) =75 ,a&A=0

.. 100=75xt .‘.t=gs

(N) ]
i (E)
VA:sz%h%j(Ng)

Website: wwwe.iitianspace.com | online.digitalpace.in


http://www.iitianspace.com/

50.

51.

Ve -Vc :T\Z/h%](N@)
~Va—Vc =V/2]

- Ve -Va=-V/2]

~.Vca isin —] i.e. south

v

Uy
i [ v
U, =Vvi u, =Vvcos0i+vsinoj

AU =Uz —Uji =i(VCcosO—V)+vsin 6]

Aul = +/(vcosO—v)? +v2sin2 @
[Au]= y(veoso-v)

—2v? —2v2cos 6

—v\/2/1—cos6

‘Aﬁ‘ _vsin?
2
4 +4
(+x)
Vertical direction < N

N S

v

Note-North south or east-west is not vertical direction
Given V. =4}, V. =3i

Last B

tan 6 = ‘Yl = E
ZE

=0=37
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-----’_i_
<

e » +X
\A V. or‘\7r

Rain without

wind ?

Direction of rain -.- of wind
Using A law of vector = V; = Vi, + V.
V. =3i-4j

c
e

yCcomp = Base

P S A,

"= x component
4™ Quad
Rain is falling an angle 6 w.r.t. vertical

t(+y)

Vertical

v

Rain is falling vertically down
V, = -20]
West East
< L g (+X)
Wind and man both are moving west to east with speed 15 m/s and 5 m/s respectively
=V =151, Vi =5i
1 (+)

Vv, =15
WE?t

<

v

, )
V, =20
Vertically down
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Direction of rain -.- of wind, speed =V,
V

Also tan6 = |JX| _b

V| 20

/l\

Rain will fall at an angle 6 wrt vertical wrt ground or stationary man
Rain wrt moving man

Vim =V =V = (15?- 20])—(5])
Vim =10i —20] «4" quad

—0=37

‘vr/mx
fano = —
‘Vr/my
10
fano =—
20
o =tan 11
2
y
H
o

7

V

r/my

<
I

r/mx

1
1
1
1,
1
1
1
1
1
1
1
1
1
1
1
1
1
v

Vem =10i - 20]
Direction of rain
wrt moving man
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53.

54,

V, cos30
=V, =V, sin30i -V, c0s30j
Vi =10i
= Vim =(V, 5in30-10)i -V, cos30j
Vim0 TV

*.» Rain wrt man(moving) falls vertically
=V,sin30-10=V, =20

v
V. cos 0
=V, = V.sin8i V. cos 6]
Vi, =8i
Hence, Vim, = (V. sin0—8)i—V, cos6j
Vimx  Vimy

Vi, =121 = Vim, =[V, sin0-12]i -V, cos6j

Given V,,, = falls vertically
=V, =V,siN0-8=0=V,sin0=8

r/myx

Given V,,, =fallsat 30" wrt vertical

@
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55.

r/m,x

—tan30 =

r/myy

V,

r/myx
. 1 = Visin6-12 =8  From equation (1)
J3 | V.coso
1 —
— = = V. c0os0 =443 2
J3 |V.cose r v3 @
(1) and (2)

2
V2sin 0+ V2 cos? 0 = (8r2 +(4J§))
V? =64+48=112

V, =47

— v, =0i

Case-1 Rain wrt moving m, falls vertically

Rain wrtground
V, cos0
V: = V. sin6i -V, cos 6]
\7m1 = 6i
= Vim, =(V, sin0-6)i-V, cos )

—_—
Vr/mlx Vi myy

It appears to fall vertically
=V, =0

r/mx

V,sin6-6=0
=V.sin6=6 (1)
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56.

Case-2 Rain wrt moving man
V,,, =12 appears to fall at 30 wrt vertical.

= \_jr/m2 = vr —\_/-m2
=(V.sin0-12)i -V, cos6]
—

%/—/
Vr/mzx V"/mzy
X Vr/m X
—tanf=—= -
y Vr/mzy

—x

In our case 0 =30
|V, sin6-12|
=tan30=————
|-V, cos 6|
1 6-12 .
ﬁ:—l/ cos(|9(.'. V,sin6=6)

V, cosO = 63 (2)

= equation 1 and 2

VZsin? 0+ V2 cos0 = (6)° +(643)
V/ (sin® 0+ cos”0) =36 +108
V2=144=V, =12

I—0X

+V.sin 0i — V. cos 6

(wrtground)
Vr
Case-| V,. =Vi= Vun, =[V,sin0-V]i-V, cos0]
%,—J
Vs =0
V,sin6-V =0
Or V.sin6=V 1)
Case-2
V,, =2Vi=V,, =[V,sin0-2V]i-V,cos6j
tan45 = Vi /myx =V from equation (1)
Viimy| T
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V,sin-2V
V, cos 0
45" with vertical

V

r/myx

V-2V
V, cos0
(1) and (2)
VZsin®0+V?cos® 0 = V? +V?
VE+2V2 =V = V42
V,sin6  V

—=tan6=1
V,cos6 V

= V. cos0=V (2)

Also

—0=45
Rain wrt ground
Case-3
Vi, =3Vi,V, =V, sin6i - V. cos ]
=Vi-Vj
:vr/mg :(V—3V)?— V] :—ZV?_V]
D

(Vix—Vin3x )i (Vry_vm3y)]

V,jm, =—2Vi-Vj

r

3 Quad
o
N
o
Vr/m3y =V
\/r/m3
—
Vr/m3x = 2V
tanoa=—=tana =2
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S57.

v V

Case-I

\_jm1 = 5’|\ j— Vr/m1 = —5i _Vr]
(R—

3rd

tan45 = i
V

r

Vi =5 S )
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JEE-Main Exercise

(a)
F=xi+yj+zk .. r:»\fx2+y2+22
r=62+82+10% =102 m

(©
From figure, OA=0i+30j, AB=20i+0 j

BC =—30+/2 c0s45°%1 —30~/2 sin45° ) =-30i-30 ]
~. Net displacement, OC = OA+AB+BC =—10i+0j
|OC|=10m.

(b)

Total time of motion is 2 min 20 sec = 140 sec.

As time period of circular motion is 40 sec so in 140 sec. athlete will complete 3.5 revolution i.e., He
will be at diametrically opposite point i.e., Displacement = 2R.

(1204)
An aeroplane flies 400 m north and 300 m south so the net displacement is 100 m towards north.
Then it flies 1200 m upward so r = \/ (100)2 - (1200)2

=1204m

The option should be 1204 m, because this value mislead one into thinking that net displacement is
in upward direction only.

(b)
Distance average speed = —v1V2 _ 2x25x4
Vi+Vo 25+4

= 200 = 40 km / hr
65 13
(d)
Total distance X
Average speed = - =
Total time t1+1t,
X 1
TXI3_2x/3 1 5 =36km/hr

+
Vi Vo 3x20 3x60
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10.

11.

12.

13.

(©)

Total distance to be covered for crossing the bridge
= length of train + length of bridge
=150m +850m =1000m

Distance 1000
= — = =80sec
Velocity 45, S
18

Time

(c)
Displacement of the particle will be zero because it comes back to its starting point

Average speed = Total distance _ 30m _ 3m/s

Total time  10sec

(d) |
VelOCity of pal’ticle _ Total dlplacement

Total time
_ Diameter of circle  2x10

5

=4m/s

(d)

A man walks from his home to market with a speed of 5km/h.Distance=2.5km and time

= d = % = % hr. and he returns back with speed of 7.5km/h in rest of time of 10 minutes.
Y

Distance = 7.5x£ =1.25km

Total distance
Total time

_ (2.5+1.25)km =£k
(40/60)hr 8

So, Average speed =

m/hr.

(©)

From given figure, it is clear that the net displacement is zero. So average velocity will be zero.

(d)
Length of train = 100 m

Velocity of train=45km/hr = 45><% =12.5m/s

Length of bridge = 1 km = 1000 m
.. Total length covered by train = 1100 m

Time taken by train to cross the bridge = % = 88 sec

(60)
vi+Vvy  80+40
2

=60km/hr .

Time average speed =
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14.

15.

16.

17.

18.

19.

20.

(53.33)
Distance travelled by train in first 1 hour is 60 km and distance in next 1/2 hour is 20 km.

So Average speed = Total distance 60+ 20

Total time  3/2
=53.33km/ hour
(4)
Time average velocity = -1 +V32 Vs _ 3+:+5 =4m/s
(1.0)
Let initial velocity of the bullet = u
After penetrating 3 cm its velocity becomes 4 Target
2 u A _____B_u/z v=0
From v? =u® —2as <x=> €
2 >
u 2 3cm
—| =u"-2a(3
(2) 3)
3u? u?
> ba=— > a=—
4 8

Let further it will penetrate through distance x and stops at point C.
For distance BC, v=0,u=u/2,s=x,a=u’/8

(a)
3 d?s
S=kt” . a:—2:6kt ie. aoct
dt
(b)
Let uq,up,u3 and u, be velocities at time t=0,1ty, (t; +ty) and (t;+t, +t3) respectively and
acceleration is a then v; = ulzuz , Vo =UZ—J2ru3and V3 = U3 U4

Also Up =Uq +aty, Uz =Ug +a(t1+t2)
and Ug =Uq+a(ty +ty +1t3)
vi—Vvy _ (i +1p)

By solving, we get
Vo—v3  (tp+13)

(d)

v=u+at=10+2x4=18m/sec

(©)
If particle starts from rest and moves with constant acceleration then in successive equal interval of
time the ratio of distance covered by it will be

1:3:5:7 ... (2n-1)

i.e. ratio of x and y will be 1:3 i.e. 5:% - y=3x
y
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21.

22,

23.

24,

25.

26.

27.

(a)
S, =u +%[2n -1]

Sy =7+ 2[2x5-1]=7+18=25m.
5 2

1)

Distance travelled in 4 sec
24=4u+%ax16 ...(1)
Distance travelled in total 8 sec
88=8u+%ax64 ...(ii)

After solving (i) and (ii), we get u=1m/s.

(180)

Soc u?. If u becomes 3 times then S will become 9 times i.e. 9x 20 =180m

(d)

Total distance =130+120=250m
Relative velocity =30-(-20)=50m/s
Hence t =250/50 =5s

(b)
Relative velocity of bird w.r.t train=25+5=30m/s
210

time taken by the bird to cross the train ¢ = S0 =7 e

(d)
Relative velocity
=10+5=15m/sec

150

t =10 sec

(a)
V, =10(-i) N(j

2

Vg =10( j)

2 :\ 100 k
Vg, =10] +10i o LRt 4

Time for shortest distance 100 km S
100/+/2

102

Vg = 1042
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28.

29.

30.

31.

32.

33.

(b)
Velocity at the time of striking the floor,

U=.2gh =+2x9.8x10 =14m/s

Velocity with which it rebounds.

v=./2gh, =\/2x9.8x25=7m/s

.. Change in velocity Av=7—(-14)=21m/s

- Acceleration =ﬂ=£=2100 m/s® (upwards)
At 0.01
(©)
——gt :>t— 2h/
/ and t, = ,
(a)

Time taken by first stone to reach the water surface from the bridge be t, then

h :ut+%gt2 :44.1:0xt+%x9.8t2

2x44.1
9.8
Second stone is thrown 1 sec later and both strikes simultaneously.
This means that the time left for second stone =3—-1=2sec

=3sec

Hence 44.1=ux?2 +%9.8(2)2
=441-196=2u=u=12.25m/s
(d)

The separation between the two bodies, two seconds after the release of second body

=%x9.8[(3)2 _(2)*]=245m

@
h :%gtz :%xle(4)2 —80m

(©)

Force down the plane=mgsin©0
- Acceleration down the plane =gsin©6

Since | = O+%g sin Ot*

2l 2h 1 |2h

t? = = =>t=— |—

gsind gsin?0 sin6\ g
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34.

35.

36.

37.

38.

39.

40.

(b)
4u?

v =u’+2gh = (3u)’ =(-u)*+2gh=>h=—
g

(a)
Height travelled by ball (with balloon) in 2 sec

hl:%a_t2 :%><4.9><22 =9.8m

Velocity of the balloon after 2 sec
v=at=49x2=98m/s

Now if the ball is released from the balloon then it acquire same velocity in upward direction.

Let it move up to maximum height h,
v =u’-2gh, = 0=(9.8)>—2x(9.8)xh, .. h,=4.9m

Greatest height above the ground reached by the ball=h +h, =9.8+4.9=14.7m

(b)

Let h distance is covered in n sec

1 )
— h==gn?
29 (1)

Distance covered in n sec= % g(2n-1)

:2—2:%(%—1) -..(ii)
From (i) and (ii), h=122.5m
(a)

Horizontal velocity of dropped packet =u
Vertical velocity = «/Zgh

- Resultant velocity at earth= w}uz +2gh

(a)
Sn:u+%(2n—1);when u=0,S,:S,:S,=1:3:5

(b)

It has lesser initial upward velocity.
(b)
S= Ut+lat2 =O+lat2

2 2

Hence, t oc \/§ i.e., if S becomes one-fourth then t will become half i.e., 2 sec
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41.

42.

43.

44,

45.

46.

47.

48.

(@)

Distance between the balls = Distance travelled by first ball in 3 seconds — Distance travelled by

second ball in 2 seconds = %g (3)° —% g(2)?*=45-20=25m

(a)
When the stone is released from the balloon. Its height h =%at2 =%x1.25x (8)° =40 m and velocity

v=at =1.25x8=10m/s
Time taken by the stone to reach the ground

tzl 1+ 1+@ =E 1+ 1+M =4 sec
(10)

g v 10

(b)
g 10
h, :E(Zn—l) = h, =?(2><5—1) =45m.

(6)
Time of flight = 2% = 29 _g ¢ec
g 32

(4)
Total distance = % ot’ = % g

Distance moved in 3 sec = % g

Remaining distance = ? g

If t is the time taken by the stone to reach the ground for the remaining distance then

16 1,
=—g=—0gt" =>t=4sec
29 Zg

(30)
If u is the initial velocity then distance covered by it in 2 sec

S:ut+%at2:ux2+%x10><4:2u+20 ...(0)
Now distance covered by it in 3" sec
S, :u+%(2x3—1)10:u+25 .. (i)

From(i) and (ii), 2u+20=u+25=u=5
S=2x5+20=30m
(65)
Speed of stone in a vertically upward direction is 20m/s.
So for vertical downward motion we will consider u=-20m/s
V2 =u®+2gh=(-20)*+2x9.8x200=4320m/s .. v=65m/s.
(80)
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49.

50.

51.

52.

53.

54,

55.

56.

Mass does not affect on maximum height.

u2

H=—=Hou’,
29

So if velocity is doubled then height will become four times. i.e. H =20x4 =80m

(5)

The distance traveled in last second.

S

Last

and distance traveled in first three second,

S

Three

:O+%x9.8x9:44.1m

According to problem S S

Last = Three

=49(2t-1)=441=2t—-1=9 =t =5 sec.

(200)

H__ ocu?, It body projected with double velocity then maximum height will become four times i.e.

max

200 m.

(©)

Due to constant velocity along horizontal and vertical downward force of gravity stone will hit the

ground following parabolic path.

(©)

—u +%(2t 1) :%x9.8(2t _1) =4.9(2t-1)

Because horizontal velocity is same for coin and the observer.

So relative horizontal displacement will be zero.

(©)
Horizontal displacement of the bomb
AB = Horizontal velocity x time available

AB=ux |2 —600x 2« [21960 _ 3335,
g 18V 98

(b)

S=UX\/E:100>< /2X490 =1000m =1km
g 9.8

()

(b)

The horizontal distance covered by bomb,

BC = v, x @:150/2”30 =660m
g 10
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S57.

58.

59.

60.

61.

62.

63.

(@)

Horizontal component of velocity vx= 500 m/s and vertical components of velocity while striking the

ground.
v, =0+10x10=100m/s

.. Angle with which it strikes the ground.
6 =tan! % :tan_l[@j:tan—l[lj
v, 500 5

(a)
Horizontal component of velocity
v, =25c0s60°=12.5m/s

Vertical component of velocity
v, =25sin60° = 125V3m/s

50m A X
Time to cover 50 m distance ¢t = % = 4dsec

The vertical height y is given by

y:vyt—%gtz :12.5\/§x4—%x9.8><16:8.2m

(a)
1

For vertical upward motion h:ut—Egtz
5- (255in9)x2—%x10x(2)2

— 25 =50sin 9:>sin9:% — 9-30°

u=500m/s

500 m/s

Ke

100 m/s

Acceleration through out the projectile motion remains constant and equal to g.

(d)

(©)

T|me Of ﬂlght: 2usin@ - 2x50xsin30 — 5
g 10

(©)

Became vertical downward displacement of both (barrel and bullet) will be equal.

(b)
B u? sin 26 B (500)% x sin 30°
g 10

R =125%x10°m
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(@)

T _ 2usind u= 129 _ 298 1565
g 2sin@ 2xsin30
(a)
uZsin2g 2usin®
H-= and T=
2g

So H u?sin?6/2g - )
T2 4,22 2@ a4
T° 4u®sin®d/g” 8 4

(a)

For complementary angles range is same.

(d)

R=4Hcoto, if R =4y3H then coto = V3 = 0=30°
(c)

Hmax = u?sin? 6

2g

i 2 .. 2 o 2 . 2 o
According to problem  4sin"45° _ 5‘2“ 60
g

2
U sin? 60°

i_\/§/2_ 3

69.

70.

71.

72.

(45)

= = — ==
u22 sinf45° T u, 1/42 2

R=4Hcotd, iIf R = 4H then cotd=1= 0 =45

(200)
u®sin20

B g

i.e., 4x50=200m

R

®)
M =2sec = usind =10
g

CH- u®sin? @ :Q:Sm

' 2g 2g
10\/5 m/s

a4
Y

Vperson =10 I

rain, person = 20]

rain, person Vrain - Vperson

=R« u? S0 if the speed of projection doubled, the range will becomes four times,
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73.

74,

= 20j= V pain -10i
in =10i +20]
|Vrain | = 10\/g m/s

=V

2/2 km/h, 45° with vertically away from the man.

vy =(2km/h)i

Vg = Vg Sin0i + Vg cos 0

X

Ve
Y
Vem =VR = VM
= (Vg $iN0—2)i+Vg cosO]
Since, rail appears to fall vertically,
VgsSin6-2=0
= VgsSiNO=2
vy =4i
Vg = 2i+Vg €OSO

Vpm =—21+VgC0SO ]

tan ¢

= VRC0s0=2

:chosez1

Vi = 2i +2]
=22 km/h, at 45° with vertical

20 km/h

- l-"lr,'

14
V, =V, 5in30°i +Vv, cos30°]

Vy, =10i

Vem =VR VM

= (Vg $in30°-10)i + v cos 30°

Since, rain appears to fall vertically
Vg Sin30°-10=0
= Vg =20km/h
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(©)

(d)

(©)

JEE-Advanced Exercise

V=0
D J"-E\F)—'l' F!- = QJ, Fﬂéﬁi!?re—

Tu
O
speed is magnitude of velocity

- speed=0 =>v=0
So, (c) is incorrect.

Eg:
g/ﬂ/—\ (usbiup

%

-+ direction reverses, speed must be zero at some in start.

sHant \
t% d.md'-"']
(D) |
(@) avg. velocity = total d_|sp.
total time

by

~
O
~

(©)

If average velocity =0

total displacement =0

particle is a starting point

v =0 at point of direction reversal
Eg.

f; F,ﬁ,l;d& Cﬂﬂ+m"i{h

o——0 —> velehy ¢ 5
Stk F
Eg.
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3 ,:EOE\} conpradich I
’—
Ghrt  PatHUA 94t

So correct answer is (D).

(©)

(a) average speed =0 = distance =0
—> particle is at rest in that time interval
Average velocity=0 = S=0

(b) = speed =0 at inward of direction reversal
(c) |V|=speed (correct)

(d) |avg. velocity| = - » average speed =

time
Both are dlfferent.

(D)

=Sl |——5 —

® b

tAB = \S/ﬂ SBC = 45t1 SCD = 75t

AB

S/2
=1 :T Sec +Scp = Sgp

4.5t +7.5t =2

S S S
thg = — 12t =2 =t =—
B =g 1 =5 0=,
Vavg = S = >

}

total t,5+2t; 3 \&
+2

XN

=4m/s

‘S‘ distance
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(©)

A B C
> % D

w - Wa  veak

P WY

—acey —
# For motion AB )
VE -Ui =2aS,,

2
[gj - (u)? =2a(3)

VCZ_U/ZA =2QS ¢
\ \

(©)
Cpg 27> ==

4Ve.
O——

0z0 O ~Umf- Ve = ©

&

Acz bm —>

vg-Ua _Vg-0° Vg

2Q,s 2x2 4

_VE-Vg _02-V§ Vg
285, 2[-4) 8

2 2

SAB =

BC

=6=Vy =4m/s

Ans.=2+1=2sec

1

tAB
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(®)
Rigid Oby —V Velo. Of all pts on rigid obj. will be equal at an instance

<« L — (Pole)

R M _F Uy =X U, =U,

2 5RM FloVy=y=V, =V,

R m F]> v, =

*For Front end

Ve =Yy
g VE-UE
2SF
_y2—x2
2L
* For middle end
L
u.=x,V_=?S =—
m m m 2
2 2
ye—X
a,.. = L = —
m atraln 2L

As v —u 2amSm

[

)y

©)
tgglsec tae = bgec
=0 c _ i
e Vo= g m/g V2O
Q. & —_
+ve
*BC motion

aBc—ve Ve 0715 _ 4504
tac

* AB motion

Vg =U, +aty; =1.5=U, +(0.3)(1)

=U,=18m/s

*AC motion

SAC :vg ~-Ui _ 0? —(1.8)? _-18x18
2a 2(-0.3) —0.6

Ans.: S,. =5.4m=distance
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©)

v=u+&

V = (i—2j+10K)+ (i + j—2k)x2

V =3i-2j+6k
—’_—'_3i—2j+6k_1 I ~ ~
V—‘V‘—T—?(3|—2J+6k)
(A)

o FLERHNT YT MG,

L @) ey - e - (g

U= lomje L=t
(Censt)
SZ :4+ Sl
10t = 48+0(t) + % Q)(t)?
t2 )
:>E—10t+48:0:t —-20t+96=0
t?—12t-8t+96=0= (t—12)(t—8) =0

=|t=8]|or |t=12| Ans

We are getting two times 8 and 12 and both are correct but ans is 8 sec. As in 8 sec boy crosses bus
and at this instance V,, =8m/s <V, =10m. Hence boy moves ahead but as bus is accelerating

hence it will again cross the boy as 12 sec.

(B)
Case 1 Escalator moving
V, =1

Ve Ve
=V,=L ... (1)

Case -2 Man moving

o
v o ®

Vman :Vm
L
tapgn=—7-=3
AB Vm
:>Vm =L/3 (2)

Case — 3 Both moving
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13.

V=V, +Ve
vioLio-tt
3 3
oL L3
ViAo 4
3
3

tag =, <60 =455ec

(B)
Planet — 1 Planet -2
a =89+ a, =294
® W= ©° UazO
q h
B R
3 | b
V, =V +V' V, =V
t, =t'+t t, =t'
WU V2o
29 2a,
V+V)?-(0)* _(v)*-0
4 2(29)
A AR VIR VIR

For2 V, =U, +a,t =V'(=V)=0+2gt’
=V =20t'=t'V/2g

For (i)

Vi =u +at;

V'+V =0+8g(t'-t)

Vv =8 (ZV_g_t]

vV Vv Vv

— e —t=t=
49 2g 29 4g

:>t:i:>V=4gt
49
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14

15.

16

17.

(A)
81=5><4+%><10><16=100

S, =V><2+%><10><4=2V+20
S =S, - V=40m/s

(D)
v

R Q_;g \l/

= =t
W21 1 Ear® Eac”t2 T +ve

L
C
Motion AB
S =Vi—Lat?
7 2
2

(th) =Vgt, +%(—g)t12 —h=V,t, +% ()

. 1 ., gt? ..
*Motion BC:>S=ut+§at —h=VBt2—T ....(1h)

2 2
@) + ()= h- A=Vt + Zo vt - T2

Vo (i +1) =2 (5 ~10) =2 (4 +1)(t, -)

—VB = @ — substitute to get h

(©)
2

us .
N ax :5:5, Is u=10m/s
..No of balls thrown 1 minute will be 60.

©)
2usin 0 2usin(90-0)
t, = t, =
g g
2 -
tltzzzxu smze:gx

9 g9 g

R
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18.

19.

20.

Ry Ry
_r T_7

272 3 6
= = h
h]wax Y1 Zmax 2 g

w3 BTG
'Z max Zg 4
A low

TR 37473

(©)
yi u®sin®0 _u®sin60 3 u®
! 29 29 4 29

3
89
Y2 _

Y1

Wl

25 R u=50m/s
» X

o

30

(———
50X\/§:25\/§ y

70m 2

v

70 = —25t +5t2
t=7s

(A)
R—hand h'

_u’sin®6 heo u®cos” @
29 29
u?2sin@cosd { g
= =
g 2u
_u'(sinfcos0)
4g°

2
sin@cosf = {%}hh':z—g\/hh'

h

R Z}R:sinexcose

hh'

u u
:sin@cosH:iRzz—g\/hh'

2
R =4+/hh'

2u u

_usin®z/6
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21.

22,

23.

(D)

From fig
*Sax =Spx

{ {
V,T = (Vgcos30)t =V, = VBZ\B
A is projected horizontally
Sgy =Sgy (C is projected vertically)

2 2
Vg sin30t—£:VCt _9v
2 2
=V, =V /2
=V, VgV = 3, Vg Ve
2 2
= \/§: 2:1
®
From fig.
Sy man = Sytruck
ur = Utt+lat2
2
\2
0

Utzlatzzwza—t
2 2

For time we’ll use y axis
) =0 S,=-ha,=-¢

yman

1
As S, = uyt+§ayt2

heo-de oo 20
2 g

Asu=a—t=E 2—h=a h
2 2\g 29

(D)
YA - ,:_.425. (Hfgkestpl-, )

u__ ¥ T&n%@\{ﬁmﬁ to pay.
& %J\. & ‘Normd {i)PG-'Pn

=
. Q%n® 2
o %?.m J, l/%%msa X
N2 %, LQXAnQ\/s )
(A)  Throughout the motion a, =0and a, =gl=a=gJ
At all points

* we have taken 6 wrt Normal. Hence, at highest pt #=0° = @ { ses during upward motion
* As ‘a‘ =gcos® hence as 64 ses cosd T ses =] ay | also T ses.

* Similarly E‘ =gsin@ hence a,  ses
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24,

25.

26.

27.

(A)

time = @ for both
\l g

(D)
From fig
hy = hg = hc
Uisin®d, ugsin®dy ugsin®é.
29 29 29

=U,sind, = ugsindg = ucsing,

Uya =Uyg =Uyc
i.e. same initial speed along y axis
=>Ty=Tg=T¢ {.‘Tzzusmgzy}

g g

From fig Ry > Rg <R:
N 2UxaUyn < 2UxgUyg < 2UxcUyc
g g g
= Uyp <Uyg <Uyc [+ uy are equal |

Also from fig

On > 05 >0,

And as U,sind, =Ugsing; =U siné;
=U, <Ug <U;

(©)
h_ Visin?60 _ V7?3 Vsin60 _ V43
29 8 9 29
ForAszet—%g+e
v_2
“NE
(D)
u2sin u?
Rinax = ; (2><45°)=E=?
R_u225in6?cose H _u?sin®6
g 29
R2_ u’2sinfcos 2_u4x4sin20c0529
) g ) g’

R? =4uiMc0320 2d

H g* s

R* 8u®cos®6

H g
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28.

ucos? @ RZ}
_ucos o

g  8H
2 ain2 2 a2
AsH:u sin“@d u“sin 9=2H
29 g
2 2 ain2
oK +R_:u200529+u sin“ @
8H g g

R? u?
2H +—=— (sin® @ +cos® H)
8H g9 — 717

2
2H +R—:R
8H

max

(A)

* From AADB
BD=H
tana =
D=x
tan o
*From ABDC
tan = CBDD—: h
=X,
=Xy =——
tan B

Also R=x +X,

From Equation of trajectory (for Pt B)
X
=xtanf|1-—
g [ R}

h=x1+tan9[1—%} R=x+X,

h XX
tand X +X,
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h h
h  tana tang
tane_LJr h
tana tan g

;
o h

tan @ tan f+tana

=tana+tan f=tand

29.  (C)

.——r—b isom/s Uy F

\
\
\

\

@

D

I

73 Ym (\I . =g ?'m/gz
{
|

i ch‘?

1
As S, = uyt+§ayt2
78.4 =0(t) + (928}2

7
t2—7 X2
98,

S, =uxt=150x4=600m

=t=4sec

30. (A
ngLe 4S5 bedow
qlo':;gh%pﬂﬁ& 3JJ
e sL—ive
() . ;®
- W q

Uo
S, =+1390m, ay =10m/s’

u :4103im9:410><3:90m/s
y 41

As S, :uyt+1ayt2

2
1390 =90t + 10t

Solve for t
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Equation of trajectory
2

e

247 cos® 0
2

15:xf5j— 10

, (12
2(52) (13j

Solving this we’ 11 get two values of x. One will be x; and other will be x, . Also x, > X,

y= xtan@ -

X

U cosa

Similarly x, =ucosa(tyg)
X2

ucos«

Ans =t = tog —top

ton =

tog =

Method — 2 uy:usina=52x£=§m
13 5

5y =+15

ay =-10

As 5y = uyt+%ayt2

2
15= 20t - 10U
2
5t2 —20t+15=0

5(t> —4t+3) =0
(t*-3t-t+3)=0
(t-3)(t-1)=0
=t=1 andt=3
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32.

33.

34.

(D)

v ¢ Vey” "oy
0 ~1°‘G’ = E 1) P
U %‘V S 90 golve
parts St M
Al . \ f? cr-r
\ 60 .
fF—
Wy & 200360

(

¥ Oy 10 = Uiy

At pt. D= tan45 = Vor
VDX

V
10=103-10t 5
10t,5 =10(v/3-1)

tap = \/5_1
(B)

u?sin®0
H_ 29 _usin®
T 2usin® 4
g

(A)
kzo

ZUsnD® - 2
" PR

]
O [
ete
k;O
* For Bullet

Sy:uyt+%ayt2

Sy, =(usino)t - g;

2
- of g, bullet is lowered by height % else without g it will achieve height = (usin O)t

* Also as monkey free falls hence
2 2

gt>  gt? . : . gt
Sym =0(t) B IR ie monkey unknowingly lower its ht. by > -+ of fall

2
Hence bullet will hit the monkey as both hit is lowered by % wof g
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35.

36.

37.

(B)
R =R, —>6 +6,=90

Or 6,=90-6, 0,
T, = 2usin g, T, = 24sin(90-6,) T, = 2ucos 6,
g9 9 g
2 -
As R Y 2sin g, cos 6,
g9
T, = 2usin 6, y 2Ucos 6,
9 9
2 -
Tl_l_zz[gj(u 25|n910056?1J
9 9
=TT, <R
(A)
2 -
R = u‘sin(2x45) _U_y
9 9
=u®=gd
DOv=o

h
A
h=y=w =g 9d
70w ‘2.[—%3
Lz dl2 am

*For H,,, player should throw ball vertically.

(B)
W B, PR .
- - [‘\ \
h \
&6 ']\/ )2 kh’\’ \\
"
*BC—>Sy=0
Sx :UxtBC
_ S _SX =U, tzc
avgge _t__t—
BC BC

V, =U, =ucoséd

avggc
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38.

39.

40.

(A)

L
i ~
: ~
.
ol Q3
H B
2Vysina
tg=——
SbaIIX =Sboyx
Range = Vbxt:M
g
E\VO sina cosa _V, x 2Vysina
L\ g
V, =V, cosa
(D) _
R —R= U2 sin(2x 45)
g
=u®=Rg

Oru=\/@

Now we want Range to ;

R u2sin2a Rg sin2a

2 g Y

:>£:sin2a
2

= 20 =30" or 150° [ a <90]
a =75

(B)
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41, (A)

f %—;30" I@
’ |l 25\ by= s
hey | N 3ss A
| \ 3
e E \: _

C

Sy:uyt+%ayt2

~ 25sin 30(2'5”%

_25x25 9.8(2.5)?
2 2

42.  (B)

o [2x440 _
EY:

h =200x10 =2000m

43. (A

to ’2><1960 _ 205
9.8

h :5—(3)0><20 =3.33km

4. (A)
w
O'\—__'B
ho o esu
i h >,
Sy
Yy
2 2
Vo=V +Vy

Also V> —u? = 2aysy

2
Vy =0=2(-g)(-h) =2gh
Vy =2gh

=V =4Ju?+2gh
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45.  (B)

(ase-
O 94
; > X
N J@
l \.t
z L
R £ >C
RC =N
From y axis
h=0(t)+ = gt? >t = ,Z—h
2 g
From x axis
S,=x=U,t=x=ut=u /2_h
g
2
‘9"% O—> %=1
2h Tk

From y axis

2h = 0(t1)+%gt12

From x axis = S, =

2X=Vg /—u,—

SZ[U_JZVB fen
g g

2u
Vy =—==Uu~2
=5 -2
46. (B)
2} V=W
—J‘} =X
i,,\é Se-0 ¥y
SN
Lm0
B c
Fromy axis
2
h:O(t)+%:t: 2h
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From x axis
S,=BC=U,t=Vt=V ,Z_h

g
Also from AABC

\Y
tan9=§:>tan0:—
AB

=tanfd=v i
\/gh

1. (A,B)
0% =10% —2x5xs
..s=10m

SlexS—%x5x9:30—22.5:7.5

=
N
5]

2. (C,D)
(A) v=0 = a can be non-zero

(B) average velocity = 0 = displacement =0
total distance

time

Which can be non-zero.
©) If v and a are of opposite signs,

M decrease = object slows down

(D)

But average speed =

‘i__ Porh ue

D N

rand v are opposite sign

= particle moves towards 0
(C) and (D) are correct.

3. (AB,C)
—
rest u,=u= constant
o—BO—@
rest
vu=0=u;
LA = Ui

vwa =0—Ui=—ui
Sz/A ZO—Ui :—U€
=1 wrt A and 2 wrt A both appears to move along same direction positive x axis
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(C, D)
Speed increases if v and a are of same sign and decreases if they are of opposite signs.

Hence (C) and (D) are correct.

(A C)
(A) If speed changes = M will change

(B), (C) If v changes, speed may remain constant as change in v may be only due to change in its
direction
= a=0

(D) = change inspeed = velocity will change.

(A, C)

a and v can be either zero as non-zero at any instant of time irrespective of other.
So (A), (C) are correct.

(B, D)
(A) If speed changes = v charges

(B) v can be variable due to changing direction
(C) If v= constant = a=0
(D) If M =constant, still direction of v can change = a =0

(B, D)

S= u+a[n—ij25:u+a(5—ij
2 2
33=u+a(7—£j
2

~u=7m/s, a=4m/s?

(A, B,C,D)
u=4m/s?, a=2m/s?

Seih :4+2(5—%j=13m
50=4+2xt ..t=23s
S=4><6+%><2><62 =60m

(AC)
< t > < >
-0 toc t,. =28
a(—VB a—
—_— s ®—>--------------- O—
km
km V, =54—
(O :54W c hr
=15m/s =15m/s
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11.

——Ac=280m ———
te = tac

(VB —15](15—ij
=l =g
AS t,, +tg. =t =2t,, =28

tg =tgc =14sec
(2) Also S; =S,

1
v Sug = Ut g + > ats,

a(14)°
2

And S, = VT, —%atgc

Sps =15(14)—

15(14)—%(&1)(14)2

=S, =Sgcand as S,z +Sg. =S,
=2S,; =280=S,; =140m

In motion AB

v, =15,S, =+140

v, =14 =Solve to geta and V,

(A, B,C)
|7A8=80m4| —
- +ve
50 t,s =10sec
| ®
V,=u V,=18m/s
a—

As, S:Vt—%atz

2

~ a(10)

80=18(10)

%=180—80=1OO

—a=2m/s?
Also V =u+at=18=u+2(10)

=u=-2m/s

=V, > X
Hence figure
2m/s
ﬁ B AB =80m(Br——
C ----------------- —’- -----------------
V. =0

a=2m/s® ——

Website: wwwe.iitianspace.com | online.digitalpace.in


http://www.iitianspace.com/

2 2 2_(_9V? _

SAC:VC_UAZO ( 2) :_4:_1
2(2) 4

Dist =2|S,.|AC+CA+AB=2(-1)+80

=82m

12. (A, B,C)
u, =6,u, =8

2
4L:g:3.2m
29
T= Time of flight =

Max. height =

2u
“ly _2x8 =1.6s

Range =4k xt=6x1.6=9.6m

13. (A, B,C,D)
u?sino
g
-2
180\/—:60><66><S|n 0

10
V3

sin29:7;9:600r30°

R =

_ 2usin®

T =6s or10.4s

2
Max range = L 6060 =360m
g

10
. Distance to be moved =360—-180+/3 = 48.6m

14. (A B,C,D)
2400 =ux0.6x5+15x25
..U =666.67ft's
R =4co0s37 xt =2667ft

V, =667.67xc0s37 =534ft's
Vv, =666.67 xsin 27 +32x5 =560

Comprehension

1. ©
Assume | = +ve Tu
For Aand B : DA 8
s=+h Uy =-u Cj:)
a=+g Ug =Uu
v =u®+2gh
v =same for both
So, (C) is correct. VL
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2. (A)
A will take more time t, > tg

&

3. (B)

B

B

/7777777

tan =4=2Y - u=20
g

. h=20x2+5%x4=60
4, ©)
If t, =6sec, tg; =2sec
= ForA: h =(—u)><6+5><(6)2

ForB: h=ux2+5x(2)’

= -6u+180=24+20
= 8u=160 = u=20m/s

5. (B)
t= 20 _ [2X00_ 5o 3-346
g 10
Match List — |

A-p,q,B-p,r,s,C—p,r,D—p,r,s

Match List - 11
A=q,r,B-r,C—q,r,D—q,r

1. (10s, 30s)
1500 = 200><t—%><10><t2

1500 = 200t —5t°

t> —40t+300=0
-.1=10s,t =30s
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(70 m/s)

0 App =2 a < after B
t=0"y —1om/s _ V,=50m/s
R — =
‘_— -------------------------------- :
V, =? Ve =0
502 =10° +29s (0to A)
1200 = as
, _ 1200 1200
s s
O A
O— . B
A
Positive AtoBto Ato A
vZ =50’ —2><1200><(—5)
v? = 2500+ 2400 = 4900
v=70m/s
(11)
u —> —> _19_[,]
20
—>
S
a_v2—u2 20 _ —39u?
2S 2S 800S
n"™ block
u E i
Oo— E V=0
Tt 39u°
] =
! ) - 800S
S =nS
Sl=v2—u2 _ 0% —u?
a _39u2
800S
2
= nSx?2 +3%u = +u?
800S
n :@:10 ......
78
=Ans. =11
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(26m/s), (10 m/s)
13

Avg. speed = — =26m/s
g-5p 0.5

. 5
Avg. velocity =— =10m/s
g Y 05

(2984 m)
—A

As :%xleloz =500m

Vg =0+10x10* =100m/s
V2 =V2-2x8xBC

64 =10000—16x BC

BC = 2484m

AB+BC =500+ 2484
=2984m

C

(o

uj) ] h t+ve
AG )

te=1, typ =1,
BD motion

SBD = O1tBD =t, -1

dgp =0

As S=ut+%at2

AB motion

t,—t
Ve zg( 22 l)’tAB =t,a=-9

As V; =U, +at,;
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312 s, 6.3 m from tower top
Droppedatt = 2sec

B +ve
1 e It !
2
S]'0m© U, =30vZm/s{t+2 gziOm/s
t=0
§y1 +‘§y2 :90 —(1)
2
s, =3042(t+2) - 2+2)
T +ve
S, =30v2(t+2)-5(t+2)’ )
2
S,, =o(t)—%=—5t2
I —ve
—1S,,| =5t ©)

Hence, 30v/2 (t+2)—-5(t+2)" +5t* =90m
Solve for t, Sy, and Sy,

D
V, =2V,

Motion CD

Sep =—2h

a=-g

V2 —u? =2aS

(-2V¢ )2 —(-Ve )2 =2(-g)(-2h)
2V.2 V.2 = 4gh

4gh
V2=
© 3
Motion BC
4gh

u,=0,V.=,—
B C 3
a=-g
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10.

VZ - U = 2as
4gh

3 02:2(_9)850
__4gh _-2h
% 3x-2g 3
= AB=AC+BC
2h  5h
=h+—=—
3 3
(45m, 20m, 5m)
Al 6"ball(t=0)
B 5" ball(t=1s)

C14"ball(t =2s)

D1 3 ball(t =3s)

5" ball :>%><le12 -5m
4" pall :%xleZz —20m

3pall :%xleBZ = 45m

Vr _\/:L’VS —Vz
Sg=2a thg =M
V, =V, +V, AB
e ®
V =V, -V
tAB =n wp — V2T V1
AtoB
Spe =Vitp >a=(V,+V,)m
SV 4V, =2 ®
m

Bto A =Sy, =V, t, =>a=(V,-V,)n

a
:>(V2_V1)=H —(2)
Solve for V,and V,
Alternative:

z(£_1j3(1+1j
2lm n)'2lm n

V,q =Velocity of current

V,, =Velocity of steamer relative to current.

a a

Vi +Vy V-V,

sr rg
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11.

12.

u=25m/sec,h=180m

S:utjtlat2
2
u lg

T

® |7

(L4

+h :—u(g)+%g(g)2 1)

1

@

IS
+h=u (4)+%g(4)2 @)
Subtracting
:>O=—13u+%g(81—16)
=13u = %(65)

:u:%g:ZSm/sec

h=-9(25)+>10(81)
h =-225+405
h=180m
2 sec
(x+20,10)
B(X,10).---=-=====o___ c g=10m/s?

toe =7

Co-ordinates of pts
If A=(0,0)=B=(x,10),C=(x+20,10)

Also from equation of trajectory
2

ox
=xtan—-——
y 2u®cos’ 0
For pt B
2
woxeno- %
2(20) cos” 0
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g(x+20)2

Forpt C=10=(x+20)tan0——————
2(20)" cos’ 6

I )

Using (1) and (2)

We can find 8 and x. Once we know 6 tjem U =ucos6
Seex = Uy e

2 2

20 =[20cos6](tgc )

1

" cos6

Alternative:

20secO

20 “20cos6
0. 10m

20cos6 20m

2vy 1
T=—= 2coseT=20:>c039=?

BC

A

g
V2 =(20sin0)” —29(10)

2
(ﬂj - 400[1— ij ~200
2 T?

25T% =400 [1— izj —200
T

On solving
=T =2sec
4.5 m/s
A v tae=05
E \\B Vex =V
i @
: V,
Vi,

Given ‘Vl‘ =15V

JV& +V2, =15V

V2 +VE =(15V)" =2.25V?

V2, =1.25V* =V, = V4125
Also V,, =U, +a, =0+10(0.5)

25
VA1.25=5=V? ="
1.25
V=420
Alternative

After 0.55 v, =4i

v, =(0+10x0.5)]
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14.

15.

16.

17.

v, =5j

M — 4% +25=15u
4% +25=2.250u°
-.45m/s

0=tan ‘1.7

to ,2><1960 _ 205
9.8

R — 600 x> x 20 — 10000
18

3

3

1960

20s,2000 m

. f2><1960 _ 205
9.8

R =100x 20 = 2000m

_ 4%sin®60  3u®

h, = =
29 89
u’sin?30 u?
h2 - =
29 89
h, =3h,

R, =R, (as angles are complementary)

1
V3
47sin”60  45sin” 30
29 2g
.Uy sin30 1
u, sind0 3

J1:1

u 1
For some range, as angles are complementary — ==
u,

Alternative:

1% part 6, =60",0, =30
h, =h,

u’sin’60 _ ujsin®30

29 29

3 1 wu 1
WxZ=ulx==t=—"
T4 4 Tu, B
2" part
R, =R,
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18.

Uy sin(2x60)  u;sin(2x30)

g g
= Y =1
UZ
3.8m
2x8
t= =4/1.6
10
S, =15\/1.6
S=S5,-§, =3y1.6 =3.8m
Alternative:
g=32ft/s?
,z”’ --------- ~\\\ ;F
u,”’ \i\ G(320
(0.4) AN
)45 TE N
L~ - walk of ht = 24ft E R
4t} !
B+«——BD=320ft — B C

(350,0)
(0,0)—— BC=350ft —»

If at 320 ft dist. Away ht of ball from ground is greater 24 ft then it will clear the fence.

Method-1
Equation of trajectory at ptG

32(320)° M

Equation of trajectory at C
32(350)°
2u? (cos” 45)

y=320-

0=350tan 45—

32(350)°

u2

Using (2) in equation (1)
32x(320)°

=350 = u® =32x350 )

y=320-— =320-292.57

y=27.42
As y =27.42 > 24 = ball will clear the fence

1
1
1
1
I
1

77 (Lt sdd

& >
< >

350
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2
4=--350tan 45+ _32x350° Equation of trajectory

2x 4% cos® 45
4% =11073
Now check y at x =320.
32x 3202
242 x cos’ 45
.y =—24. That means of is 24 m above origin or 28 m from ground.
So it will clear 24 feet high fence.

y=-320tan4J +

19. 5,125

AB = (c0os37

_1
2
= co-ordinates of pt. C
10 40 3¢
_+_’_
3 55
X y
Use equation of trajectory at ¢
gx’
=Xtang————
Y 2u®cos’ 0
10 4¢
10| =+ =
¥ (18,401 o(3+5)
5 |3 5)(2 2( 9
256 &)
Solve for ¢
Ans = x,y=[9+4—f,%j
3 5 5
Alternative:
gk®
=Xtano—————
Y 2u? cos® o
2
O.6L=[%+0.8ij0.5—10>{%+0.8q
= 2x125%0.89°
L= 6.25
3
~.(x,y)=51.25
20. 5
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p Ac E Advanced Booklet Solution

IIT. MEDICAL Kinematics - 11

Inchapter Exercise

1. X = 4t> — 15t + 25
v=d—u=8t—15
dt

9--I_g

dt
Att=0, =25m, v =-15m/s, a = 8m/s?
v=0means8t—-15=0 .'.t=§:1.8753

Acceleration does not depend on time. So, it is constant
2. v=2t2+5

t1=2s,vi1 =12 cm/s, to = 4s, v> = 37 cm/s
Change in velocity = v2 — vi= 37 — 13 = 24 cm/s

(ii) Avg. acceleration = \:2 _:1 3718 oemys?
271 -
(iii) Instantaneous acceleration
dv d 2
A= —=—(2t"+5) =4t
"= dt )

t= 4s,a=16 cm/s?

3. t=Jx+3, JIx=t-3
Xx=({t-3)2=t2-6t+9
v:d—u:Zt—ﬁ

dt
v=0=2t-6=0, -.t=3s
x=(t-3)%att=3s,x=0

4, X =2 -5t +6t?

v=d—u:—5+12t
dt
5. v=d—u=8+14t
dt
As=14
Att=23, v=8+14x2=36m/s
A=14
du
6. V=E =180+100t,a =100
Att=0, v =180,

Att=4s, v=580
Att=4s,a=100
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vm

v7T
25m
75m
4 t,
a=Ym _1m/s?
1

vmt, =150 .. v,, =t, =150 =56
Now, for 1% 50m a = 1m/s?

ha= %xlxt2 t= 100

20m/s .

;40m/s

t,=10 t, b

%xZOxt1:4O

t3=4

Now ans under graph
2

@ +14) 20 = 640

. t2 = 25

Total time =10+ 25 + 4 = 39s

Accel 20 _ 2m/s?
10

=2 _5mys?
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vm
600m
900m
4 t,
2-YM Lymt, 900
Vm
-t =30s, Vm =60m/s vmtz .. t, =10s,a = < - 2m
1

Now, at centre of track S = 750 and motion : uniformly

10.
V=20 m/s
t t, t t
01=29 . t, = 200s
t1
0.2:m,t3:£ =100s
tl 0.2

Now 5000 = [th + 200+100}>< 20

t, =1000

st + o+ t3=400s
11.

t,=10 m/s t,=15\n/s

t,=10 m/s t,
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12.

vl
¢

Yol —u?t = o e (1)

(1)) (or+oh,r)t2:m
(v+u)t, =0 .(2)

W/@) = L= o
t, \v-u

13.

-
\/ . Uﬁih}
UFJ-'J ) Pn'ﬂ'
Vp,wsing = Vo
= sin6=—
15

14, ®=400m
v, =2m/s
v, =10 m/s
(@) thin = @ _405
Ub, r
(b)  drift =(v,)t=80m
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15.

16.

@) t=

o  05km 10
Uy rsing  SKM/hrsin® sin®

(\;L,}u'na Gl.m
/{’ \

(b) t i, =10 mins

n

o=0.5km
v, =5km/hr
vy, =3 km/hr
. . . Vb,r 3
For min drift = sin® = :§:> 0=37°
Vv

n
WV >op
Zero drift not possible.

Min. drift = (v, —v, ,sin6) —2im

mins

JEE-Main Exercise

V,,, €0sO

\ Uhm(BW

\J'mﬂ )
v

U, 9t n

(©)
. d*x

Acceleration = o 2a,
(d)

Velocity along X-axis vy = :I_)t( = 2at

Velocity along Y-axis vy = ?j—i’ = 2Dt

Magnitude of velocity of the particle,

v:4,v§ +v§ =2ty/a® +b?

(c)

v = (180-16x)Y?2

Asa=dv_0v dx
dt  dx dt
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1 _1/2 (dxj
a==(180-16x ~16) | —
= )2 x(-18)|
= -8(180-16x) Y2x v

— —8(180-16x) Y2 x (180 -16x)2 __gm/s?

(©
. dv
Acceleration a = m =0.1x2t =0.2t

Which is time dependent i.e. non-uniform acceleration.

(©)

vX:d—Xzi(stZ—et)zet—e.Att:1,vX=o
dt dt

vy = ay _ d(t2 2t)=2t-2. At t=1 v, =0
dt dt

2,2
Hence v =,/vy +vy =0

(©)
y:a+bt+ct2—dt4

.-.v=d—y= b+ 2ct —4dt3 and a=d—V=2c—12dt2
dt dt

Hence, at t = 0, Vinitial = b and ainitial = 2C.

(b)
1
2 27,
> 2 d2X d2y 2
a= aX +ay = —2 + —2
dt dt
2 2
Hered—gzo.Hence a:d—;(:8m/s2
dt dt
(©
2
X _oat—3pt2 = 97X s gbt=0=t= 2
dt dt? 3b
(b)

. Distance ~ 3.06
Time = =9sec
Average speed - 0.34
Change in velocity  0.18

Time

Acceleration = =0.02m/s?
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10.

11.

12.

13.

14.

(d)
S =3t3 +7t2 +14t+8m

2
a:d—25=18t+14 at t=1sec = a=32m/s?
dt
(22)
v =4t -2t (given) - a:%:lztz—z

and X=I;vdtzj(;(4t3—2t) dt=t* -2

When particle is at 2m from the origin -t =2
St t2-2=0 (t?-2) (t?+1) =0 = t=+/2 sec
Acceleration at t=./2 sec given by,
a=12t>-2=12x2-2= 22m/s>

(18)
v=u+j adt=u+j (3t2+2t+2)dt

3 2
2
:u+%+%+2t=u+t3+t2+2t

=2+8+4+4=18m/s (As t = 2 sec)

)
3t =/3X +6 = 3x = (3t — 6)°

— X =3t2 —12t +12

v=z—)t(=6t—12,for v=0,t=2sec

X =3(2)% -12x2+12=0

(45)

a=6t+4
dV \' \"

= —=6t+4 = J'dv:'[(ﬁt+4)dt
dt 0 0

= [v]‘é=[3t2+4t];

= v=0=3t2+4t

— v=3t2 +4t

v X g
dt

t

= fdx:j(3t2+4t)dt
0 0
g

=

—

x]g t3 + 22 )0
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15.

16.

= x—0=t3+2t?
= x=t3+2t?
At t=3 x=45

<

Tt+6
30

When v=3 = —=3
t+6

t+6=10
t=4s

3)
s=+at’> +bt+c

v—%— 2at+b
dt \/at2+bt+c

Acceleration = %
dt

(M)(Za)— (2at+b)(2at+b)

= Acceleration =

2\at® +bt+c

2
(\/at2 +bt+c)

4a(at2 +bt+c)—(2at+b)2
= Acceleration =

Z(at2 +bt+ c)gl2
4ac —b?

(\/at2 +bt +c)

Acceleration oc s7°

—> Acceleration =

= (4ac—b2)s‘3
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17.

18.

19.

20.

21.

22,

23.

24,

(b)
Distance = Areaunder v—tgraph = A +A, + A, + A,

30

20

10

Velocity (m/s)

PA L)

A1 E EA3E As
1 2 3 4
Time (Second)

=%x1x 20+(20x1)+%(20+10)><1+(10><1)

=10+20+15+10=55m

(d)

In the positive region the velocity decreases linearly (during rise) and in the negative region velocity
increases linearly (during fall) and the direction is opposite to each other during rise and fall, hence
fall is shown in the negative region.

(@)

Distance = Area covered between graph and displacement axis = % (30+10)10 = 200 meter

(d)
Because acceleration due to gravity is constant so the slope of line will be constant i.e. velocity time
curve for a body projected vertically upwards is straight line.

(©)
v2=u?+2aS, If u=0 then v S
i.e. graph should be parabola symmetric to displacement axis.

(a)

This graph shows uniform motion because line having a constant slope.

(©)

From acceleration time graph, acceleration is constant for first part of motion so, for this part
velocity of body increases uniformly with time and as a = 0 then the velocity becomes constant.
Then again increased because of constant acceleration.

(©
From given a—t graph it is clear that acceleration is increasing at constant rate
" 3—? =k (constant) = a =kt (by integration)

= ﬂ=kt = dv = ktdt
dt

:j dv:kj tdt = v:g
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25.

26.

217.

28.

29.

30.

i.e. v is dependent on time parabolically and parabola is symmetric about v-axis.
and suddenly acceleration becomes zero. i.e. velocity becomes constant.
Hence (c) is most probable graph.

(©)

. . 1
In first instant you will apply v=tan0 and say, v=tan30° = ﬁ m/s.
But it is wrong because formula v = tan @ is valid when angle is measured with time axis.
Here angle is taken from displacement axis. So angle from time axis =90° —30° =60°

Now v = tan 60° = /3

(b)
Between time interval 20 sec to 40 sec, there is non-zero acceleration and retardation. Hence distance
travelled during this interval

= Area between time interval 20 sec to 40 sec

- %x20x3+20><l =30+ 20=50m,

(0)

Since total displacement is zero, hence average velocity is also zero.

(B)
1km
Vi —Vir = 1
—h
4

= |[5°-V; =4

= Vg =3km/h

(B)
d

Lo YR _ging
T, d

(Vg )Sin®

(©)

¢ d

Vyr SINO

= VMRsin9=6—£=10 m/s

Vg SINO
tang=—"R"—~
Vg + Vg COSO
R — —
5+Vyg COSO
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31.

32.

33.

34.

35.

= Vyr C0SO=5

Vyr = V102 +52 =55 m/s

(B)
Vg = (4.5km/h)]
Vg =(6km/h)i

Vy =Vyr + Vg = (4.5j+6f)km/h

Vi =(J(4.5)2 167 jkm/h :%km/h

(d)

For the round trip he should cross perpendicular to the river

1km
km/hr

*. Time for trip to that side = 1

To come back, again he take 0.25 hr to cross the river.

=0.25hr

Total time is 30 min, he goes to the other bank and come back at the same point.

For shortest possible path man should swim with an angle (90 + &) with

(c)
downstream.
From the fig, sinH:v—’:%:% - 6=30°

m

Velocity of car w.r.t. train (v,) is towards West — North

w

VR
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JEE-Advanced Exercise

1. (©
Method -1 (Graph)
acc" =4m/s® « slopel

Retardation = 4m/s® « slope —3
Disp = 20m

r

Slope =tané = =
Base

r_
t 4

J_r:V 2 \i
4

Slope - 1=

Slope -2 = =4 =t =

t2
From graph
t,+t'+t, =6
t'=6-2t (-t =t)
As tlz%:w:ml
As Area of V —t graph = disp
%(6—2t1+6)4t1 =20

%(6 —2t1+6)4t, = 20

48t, —8t7 = 40

8t* —48t, +40=0
8[t7 —6t, +5] =0

(t2 —5t, —t, +5) =0
t,(t, -5 -1t -5)=0
=t =50rt=1

*t, =5 not possible
t'=6-2t =—4 and
Time can’t be —ve

Andas t, =6-2t, =6—-2(1)
=t'=4sec
Method -2
Uu=0 ag =4m/sVyz=const=V, Vp =0
O——O—O—0
&_;—’5 =5 2
l ¢ £

t, +t'+t, =6sec
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AB +BC+CCD=20m
Vg =0

From ABt, =—=—=V
17y %
From CD = 2= 2~ Ve =V /4
(©)
x = (at® + 26t +c)"?
1
=1
vzﬁzl(at%zbuc)z [2at —2b]
dat 2
2(at+b) B at+b

T @?+2bt+0)’?  (at2+ 2bt+c)Y?
Acce" = % (Division rule)

(at—b)(at +b)
(at? + 2bt +c)Y?
[(at? + 2bt + ¢)Y?]?

_ (at® +2bt+c)a—(at +b)?
(at® + 2bt +¢)¥?
_ a’t® +2abt +ac—a’t® —b” - 2abt

[[at® + 2bt + c]“?T?

2
n ac—b

acc = (X)3

= (at? + 2bt +'c)(a) —

-+ x = [at® + 2bt + c]¥2

acc" oc % ( ac—b’ = const)

(D)
S2=t=S=(t)¥?
ds

1 -2
v=2_Zq¢
dt 2()

a:yzl[__l(t)yZ:l
dad 2| 2

B (RN
a= 0]
As V =%(t)1/2 =t Y2 =2v

a= —%(2v)3 =23

accV® and ais —ve

(A)

A vdv

x> dx

Aj%:jvdv
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(D)

S
Vavg = T
Give v= ,u\/;

dx dx
I —Lrl

(X) 2 B t0+1
1| Hoet
L 2

(2] =[]
2(\5-0)= u(t-0)

t——Z\/g
)7
S S Y7,
Vpg =2 =—>— &5
avg t 2\/§ 2
y7]
(B)
t = ax® +bx
ﬂ:2ax+b
dx
= ! :%:v(velo)
2ax+b dt
1
=V=
2ax+b
As,Acc”=vﬂ
dx
= =(2ax+Db
2ax+b ( )
dv

o | —1(2ax+b)? |[2a(1) +0]
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dv_ -2a
dx (2ax+h)?
Vdv 1 —-2a
== x
dx (2ax+b) (2ax+b)?

n__ o+
(2ax+b)*

acc” = (V¥ x—2a { V

acc

acc” =—2aVv®
Retarda" = 2aV?®

(A)
a=5+5=Vd—V
ds

= (5+s)ds =Vadv
SISOds +_|.sds = IVdv

3]

S?-0* V?-25
2

5(S - 0) +

10S+S% V?-25
2 2
V2 =5%2+10S+25
V2 =[S+5]°
=V =5+5

(B)
X =—4t> +8t+2
%:v:—8t+8
dt

d—V:a:—8:const
dt

*u =initial velocity=vatt=0
U =-8(0)+(8)=8 (- V =8t+3)
u=8m/s

tas =O—'88 =1sec

—dist=22S 5

:2ax+b
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10.

11.

VE-Uz 0°-(8)° -64

e =" 2(-8) -16
Spp =4
Dis =8m
(D)
(A)
an st
) . g*mnlmﬂ ol "‘fa‘tmﬁ
is ol 17’5'5'19 ¢
| “""

(B)  areaunder v-t graph = displacement

(C)  slope of v-t = %, slope of v-t=a

(©)
S —t graph = straight line

>N glopezUzo=D0=0

D
+
(A)
Uniform velocity
v-t graph
J M
2
A
* 4'/
> K

(B)

v

I]\

" | T ;

& : \ S
t T
Ve n
—>
(-
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13.

14.

15.

16.

t t
tt+—+(n-3)—=t
n n

ot tgan_gMtot0-2)
n
v
n
Avg. Speed = M — Area
total time
1{(n—3)t+t}v
V. = 2 n
avg t
n—-3+n
A
2\
_(2n-3)v
2n
(©)
Slope of Q at the end is greater as compared to P.
(D)
dv
a=v—
ds
a=(KS+C)K

a=k2(s)+(CK)
y=mx+c = stline

(A)
Area under graph

Average velocity = -
time

(D)
Method — 1 (with graph)

v
Q"“[ WY )
20

B
During retardation it covers 1km
= A =lkm= % (30+15),

t = 2 hrs
45

. . 1
* During accn it convers =km
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17.

18.

19.

= A :%km = %[30+15]t2

1
t,=—hr
2745
:>tota|time:t1+t2:£+i:i
45 45 45
t=ihrs=@mins=4mins
15 15

* Without repair work train will move with (const. velo)

=30 km/hr for 1.5 km
polo, 151
30 300 20

:>t'=i><60mins=3mins

20
Ans —timelost=t—-t'=4—-3=1min
©)

From fig. x = - sint
Graph is of —siné

Ly S _desing
dt dt
(C) option
(A)
T:J-'u?
J-ve
N
v /l* I\
"Nl: \7\
(B)
22
v -u =Area of a— s graph
v —(0.8)°
#:A&JFAZJH%
2
V—TO-G“:(0.16)+%(O.2+0.4)0.4+0.12

V2-0.64=(0.16+0.12+0.12)2
V2 =144=V =1.2m/s
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(A)

B/w PQ —slope = -ve = velo. = -ve
AtQ — slope =0 =V, =0

B/w QR —slope = +ve and T sing
= velo = +ve and Tsing

B/w Rs —slope = +ve and 4 sing

= velo = +ve and { sing

AtS — slope=0 -V =0

B/w ST — slope = -ve =velo. = -ve

Conclusion

1. Initially velo. T ses then ¥ ses

=g =+ve and a; =—-ve

Also graph is not a st line implies velo. Is not constant at all implies acc"= 0 at all
Hence (b) and (c) options eliminated

(A) a=b-ct (D) a=b+ct} given aand c are +ve constants
In this accn cant be —ve

In option acc" will become —ve afer sometime.

(B)

F =ma « acc"

a:E=1mg —a=F
m

Q&
¥ n

20 [-->

mn

-~
&>
v
a

For V.« — amust be +ve ie we’ll consider graph till 10 sec.
Area=V —u

%xleZO:V -10=V =110m/s

(B)
V = ki +Kk,Xj
V, V,
*VX:%:klzjdx:kljdt
[X]5 = K[tly = x =kt
:3t:5-

k1

d
d—f = kikot = [ dy = kyk, [ tdt
y t2 t
—k.k,| —
[yls —k 2{ 5 }

0
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23. ©
Vg Vg =
a )
§A’B =6l +4]
é:A’B =O
§A,B :(VA,B)t

2. (C)
y = ax—bx?

_ax[l—%j
a
X
=Xxtan0|1-—
Y ( R)

tan0=a

oo

1. (A B,C,D)

x =—Bt* +at
v =X 387 4 2at
dt
= v =—6Bt+2a
dt

(A) Find time for S=0
=x=—Ppt+at’ =0
Solve and check
(B) Find time for velocity =0
ie V =-3Bt*+2at =0 solve and check
(C) uisvelocityat t=0
As, V =-3Bt* +2at
At t=0,v=0=u=0
As, a =—6fBt+2a
At t=0=a=-6B(0)+20 =20
—atu=0,a=0

(D) Findtime for F_ =0

n et
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ie time for a=0
as a=-6pt+20=0

:t:&

3B

(A, D)
(A) x=t>-3t°—gt+5
At t=0,x=+45

—> particle has some initial x co-ordinate (x=5) at t=0

v:d—X=3t2—6t—9
dt

At t=0,u=3(0)"-6(0)-
=u=-9m/s
dv

a=— =6t—6 «—non uniform acceleration

dt
— ast T ses acceleration T ses
Att=0,a,=6(0)-6=-6m/s’
Lets find time when acceleration =0
i.eat, t=1,a=0

Q
.
‘ >
ol & BC t .
b N et b bedhe time
’ When net Aved. = O

Area of a—t graph =V —-u

(@) Velocity must be positive i.e. V—u=Area >0

Anet =0

J

Alower +Aupper =O

A A
= Aupper :‘Alowem :%XGX]':B
Using straight line property
tane—izﬁza 6t—6

-1 1
1 1
Auppers =5 (t-1)(a) =2 (t-1)(6t-6)
IowerA 3
:# 3=6(t-1)(t-1)=6
(t-1)" =1

t-1=1=1

=t=2=a=6t—6=6m/s’
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(©)

total distance
Average speed = ———

total time
Dist = Area of v-t graph
R ) =«

2 2
/ T
Avg. speed =% =—m/s
g- 5P 2 4

(A, B, C)

u, =40m/s (constant)
u,=0,a, =4m/s?
Uz =40—0=40m/s
a2 =0—4=—-4m/s?

- - 1-
Sz = Uit + Eauz'[2

2
S = 40t —% = 40t - 2t?
Use maxima — minima concept to find S, max.
For options (b) and (c)
For option (A), Sy. =0
=40t-2t* =0
=1 =20sec

(A.B,C)
vs __d i
V =B(x) :%:%(x)s
v__ B
dX 3(X)2/3

dx U3 B
As a=V = B(x) }{W}
BZ

a=——7 <a isvariable
3(x)
Hence (a) option is correct
Mean velocity =V, = E
time

As, V =B(x)"

dx _
dt
= j(x)_mdx = B_[dt
B 2/3

X
() } .

2/3

[S(X)”3 = % = Bdt
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3,23
5(5) =BT

az 2BT
o2

:S:{ZB—TTZ
3

{ZBTTQ
S | 3

avg T T
~ ﬁ 3/2 "
[ Sj (M)

For C option

Xot

ps | 203 | =Pl

0

a3 3 3
—(x

(A, B,C)

Dist. yet to be covered
a=a—BS=—PLS+a
a=-P(s)+a

Vool

y=mXx+ao

U&V\% vooak g A=
e
prep
=a=—S,+a=0
=S =al/p

V2 —u?
As area of a—sgraph = >

and u =0 - starts from stat" A.
also V=0 --itcomes to halt at B.
= Net Area =0when V=0

Solving this S:%x from graph)
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Velocity T sestill acceleration >0
=from figure V_, isat S, =a /B

2 2
ASV u

= Area of a—sgraph

V2 (02

1
—% —2(s)(a)

=)

After this dis. Till station B is again S, which is :%

(A, B,C,D)
Uyp %r/\\s gz 1w
W= 2m
labforn — @ Mo 2nly

]\ hp=Ym

Gp =+2m/s,Ugp =+8M/s
Us —Up =8
= Us =8+Up =10m/s
ar =+2m/s?,as =—10m/s?
= agr =(-10)—(2) =-12m/s?

< - 1
Se/p = Us/pt +§<’JIB,P'[2
0-8t—12¢ —gt—6t2
2
(means ball reaches back to platform) =t = %sec

In time tzﬂ,SP = Upt+lapt2
3 2

2
szg(ﬂj_,_l(z)(ﬂj :g_,_E
3) 2 3 3 9

Sp :%O:ht.wrtzsp+4

ground

h=@+4zﬁm
9 9

Atmax. ht V; =0
As, V2 -V.=2a$

B B
02 —(10)* = 2(~10)S,
Sg =5m
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= ht. of ball wrt ground =S, +4=9m
- — 1-
Seip = Us/pt +§a3/pt2

= 12

Serp 28'[—?'[2 =8t —6t°

Maximize (use concept of maxima-minima)
Alternate to find Se/» max

Sese Will be maximum when Ve =0

Also Vé/P - UZB/P = 285,pSgp

02 —(8)" =2(-12)S,,s

648
B/P 24 3
(A, B,C,D)
A~

Wy
Prasis.
® %
O O
! (_;.T:_-Bgm——'—\

Ug, =U="?

Sg, =S; =60m

:>t=SE‘X :—0=4sec
uX

t, =—=2sec

In y axis

V, =u, +at

0=u-10(2)=u=20

(at ht. pt)

= U, =20m/sand ug, =15m/s
— Up =15i + 20j

ur =15i

Hence Us/r = Us —Vr = 20]

(A) option

o Ugr = 20]

= Ball wrt truck moves along y axis
= (B) option

Us =151 +20j
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9.

10.

= |Us

=+/15° +20° =25

auc =-acos0i+asinoj

e <ai

As 5. =a|/c +§c

a =(a0—acose)f+asin9]
—

—
ax &y

K = & c - Yll .
1 4 /1 GoGmp
— Qe = Gg
4 v Qq CaRE
Direction
1" to car
—airc =—af

ac =a,Cos0i+a,sinoj

= a =ayc+ac =(a,co0s0-a)l +a,sino)

T
a,L" toscreen
(B, C)
)
b =k
t, .. W
s g A Co_nale bw
\o® V_').'J Q Vp and
Vq Vq :Soj
P
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11.

12.

Ve =V cosi + Vsin 9]
Vo :Vcosei+(Vsine—gt)]
S —

-
(+"Vox=Vex) (Ve =Upy +aypq )
As Ve L' Vg
= VP .VQ =0

Vr.Vo = V2 cos? 0+V2sin?0—Vsin gt
0

0=V?-Vsinogt (- sin®0+cos* 0 =1)

Vsinogt = V?
\Y/ V cosecO
:}t: - =
gsin® g
(C) Option
N~ 2 - V ~
Va :Vcosel{Vsme—g( - HJ
gsin©
. V(sin®0-1).
=VcosOl + ——=
sin©®
2
_ V(sin®0-1)
Vo|= [(Vcos@) +| —— 7
Val= ) [ sino ]
(B, D)
H o =Same
= V, =same =T =same
R, >R
R=V,T
(uy), > (uy), and (vy)2 =(vy)1
=V, >V
(A, B,C,D)
:l& Vs: Q
h % W
b &
As V. —Ui =2as
0°-u*=2(-g)h
a=,/2gh
u®sin(2(45° 2
(A) Ry = 20S) v _20n_,,
g g g
(B) R=nh
u’sin20 _nu’sin’6
g 29
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nsin®o

= 2sinBcos0 =

ﬂ:ﬂ:tane
n coso
O:tanl(iJ
n
- 2 -
©) T=2usm6’R=u 2sIn0cosO
g g
4u®sin?0  4u*sin’0
T’ =g———=
g g
- .
2Rtane:2{u 23|necose}(smej
g cos 0
_4u”sin’6
g
(- B
Gy o
S |
1 :
Ul Ft
a O
(d) ()
i =VB—VA O—Ulzﬂ
AB
a -0 g
T=2tAB=ﬁ
g
SAB:vg—v,i_o—vf:u_f
2a 2(-9) 29
Wo _-qo...
>
_ OV \\.
S
(i) P
2 -
tPS:2u S'ne:'r:ﬁ
g g
=u,sinb=u,
2 Aain?2 2
SPQ:H:uzsm e=u—1=SAB
29 g
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1. (B) 2. (D) 3. (A) ©
|
canht b
I M/'T’
N >
0 T T +
From 0 to T = slope = +ve and [slope| is decreasing
From T to 2T = slope = —ve and |slope| is increasing
Also slope = velocity
speed +-VE

"

5 (B)
{
U("“,‘{) “1\9_’.‘-9\
o —
., \‘ 1|' ‘.*.ﬂ*r_ X
0 2 L—H |{’ g
* 1
- 20— - — —_ =
X _2-x = 2-Xx=2X
10 20
x:2:0.67
3
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10.

11.

12.

(©)

AV .
‘A_lt)‘ = Slope magnitude man for 4 to 6 sec

(A)

Xp =—15m

S for t = 2 secs

= Area (A) = x; —(-15)

X :%x2x10+(—15)

=-5m

(A)
maximum displacement = area fromt =0 to t = 4.67 sec.
=33.33m

(A)
total distance = Z(magnitude of area under graph)
=66.66 m
(B)
7
=lb I'_—_=il— lc I & :}
i Al
©)
Slope of s-t graph = velocity
®) ! e 4.1
w

3B

B¢

A to B = down stram

V,=u+Vv
(
Sl ="
T ERY
B to A = upstream
V,=V-u
(
t., =
BA V—u
( (
T=tygttlgp=—""+
AV R TR VAT
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(((V=u)+(V+u))

V2 _ u2
T 20X
V? [1—
©)
uow
Vo = Uj

Anro =V cos0i —Vsin 6

Va=Vao+V, = (Vcose)i+(u —Vsin 6)]
Moves A to B ie only along x axis

=V, =u-Vsing=0

=sinb=

2
J L

Va=Vcoshi=Vr——j

\7A = \/VZ —U2
[

(

U S
e Va JVE—u?

Similarly, Vsin0=u
- it wants to move B to A

(
= tgp=—=Vcos0=

(
Va JVZ—u?
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=T=t,5+1,

14. (A

[L%mﬁ- Wind

" uugsa V=%

U%ﬂ\o{_
Vo =Vcosai-Vsinoj
V., = UC0s0i +Uusin 0]

VA =\7m +VA/w
=[Vcosa+ucosB]i+[usin@—Vsina]j=0

Vpy itmust
As Aeroplane wants to fly along x axis only
=usin0—-Vsina=0
usin®

=sina =

DY

J Vi wade

. R 2 120in2 N
VAVAXil:V{ v {J/S'n e]+ucose]i

Va = (\/V2 —u?sin?0 +u cose)fCOSOL

V4 {
Lag = - 2 2 2
Vo JVZ—u?sin?0+ucosd
R ko A Wind. , U“:lﬁw]

/) wans T 71
@ &
AL
/ \V} :Uﬂlw
Vs?‘m[%
Ve =—V cosBi—Vsinfj

V., = Uucos0i +usin 6j
VA =vA/oo +\70)

as. >
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Va =(ucos®—Vcosp)i+[usin@—Vsinp]j

V=0

usin®

=sin=

J \,fl_, u?' &iﬂLQ‘

cos 0

{\/VZ —u?sin? 9”€
Vv

Va !ucose—v

Va =ucos®—+V2—u?sin’0
ton L —V2—u®sin?@

V, ucos®

¢ +
4c0s0\ V2 —u?sin?@ uc

Match List -1 : A-p:B-p:C-q:D-R

14

T=t,g+tg, = (;se_ V?—u®sin’0

Match List-2 : A-q,s:B-p,nC-p,:D-q,s
Ny F’r"m>1L

(B)

From Figure 6, >0,
And both 0, and 6 lies between 270 and 360’

As we move from 360 to 270" tan© becomes more positive
=V, is move positive then V,

—From A to B speed T ses
And acceleration is in direction of velocity is obj is accelerating

\J
Accelerating when velocity and acceleration are in same direction
Decelerating when velocity and acceleration are opposite in direction.

NN

e

(D) W
Both 0, and 0y lies between 270 and 360’
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Also 6, >0,
1

NG

We know tan330 = —

tan315 =-1
= tan 0 is less positive than tan6,

— V,is less positive than V, and |V, |will be less than |V, |
— speed < ses

1.
V A
“ Imx ;
ME Ay i a
4 &-—':)l : v > E‘(“"ih)
 — 1Bwmin
£y R &
\VJ b
. 10 1
t,+t, +t3:10m|ns:%hrs:ghr ...... (1)
A =1km = %vlt1 =>vy=2 2)
A :3:v1t2 ...... 3)
A =2= 2v1t3 =>Vt; =4
(2) + (3) +(4) =V, (t, +t, +t;) =2+3+4=0 >V =54
1
«3)
2.
|—/—+mm — +ve
[ &) D
= V
b [
t -
Skm
Vyjp =V =V, =V =30 = —(V +30)
S312 =—5km

o_ Sy _ Ahr s

Vy, 815 V+30
V +30 =75=>V =45 km/hr
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W=0 E

®O-
G \
o> ©
' @
Bilboaxd
l
* From fig
1.5km =Vt (D
* Policeman
Uu=0
V = 150k—m_150 Em/s
hr 18
t=12sec
V—-u 750/18-0
ap = =
t 12
. 750250 250
P 18x R4 T2
2
Sp _ut+at? =04+ 220 )
2 \&xﬁ

SIO =250m
', =V(t") «750/18m/s
th=(t-2)-(12)

t'=t-14

(2

Sp =Sp+Sp =250+ 7—50(t -14),,
750

1.5km =1500m =250+ = (t ~14)

s 75
125Q = ——(t—-14
50 1§( )
6
30=t-14 =t =44sec
From eqn (i) 1.5km = vt
1500m =V (44sec)

1500 m % w&

a4 s w11 s
1350 km
11 hr
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@ °*c'-" tm/s>

——— boom zD6Km —

® Vc,(ten%l:)
i e o o—m e
@ ;

t=% Sec

‘©

G DD

= z 20m
0= FLkm 11_3_\

hy
(Canst)

For truck A to B
ST :GOOm,UT =20m/s t; :62—05) =30sec

*Forcar Ato B

Sc =600m, a, =1m/s°
t- =30sec

As S :Vt—%atz

600 =V, (30) - = @0

30V, =600+ ?

Ve = 1050 _ 35m/s
30
As tyg =30sec
=t =50-30=20sec
U, =(35-20)=15m/s

Ucar_UT
8 =0 (after B)
o, :Urelxt

rel

=15%x20=300m

12x = 4t3 —15t° +12t + 6

3
BN PR
3 4 2

Disp. Distance in 2 sec=?

Att=0 x=%:0.5???

dx 3t
E:?__(Zt) (attZO)

= u = (0)? —E(O)+1:1m/s

*a= dV_Zt—§ az2t—>
dt 2 2

LE ZSodc)
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—acc" att=0, a, :2(0)_2
:>a0:_—5m/s2
2

Att=0,y=1m/s, a:—gm/s2

i.e acc" is oppo. to u hence it will make particle return after some time.
Fig, will be like pt of consideration

G &

Lo i v=0

® B&—"B®
&
0-S™ V4

= dist = disp

Also a =2t _g = const. Hence Equation of motion cant be applied
1. Lets find t when v =0
AsV =12 — 2141
2
—t?_2t41-0
2

2
S22 _at—t42=0

2t(t—2)—1(t—2) =0
t-2)(2t-1)=0

:>t=10rt=2
2

Hence fig will

¢ bDC
aLen = ©
-.- it changes its direction at D
As a=2t _>
2

5 5
=0=2t——=1t,p =—secC
2 5 AD =7

. 1
Dist = AB + BC (Z—EJ

t —ESEC t —ESGC
AB =5 BC =5
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Disp will be wrt pt o and not wrt pt A

3
S—x=L_ 2 4l
3 4 2
11\ 5/1V 1 1
3\2 4\ 2 2 2
21151,
3 8 4 4
s _2—15+48_§m
OB 48 48
Disp. Fro 2 sec = So¢

1.3 5, 1
Soc == (22 —2(2?+2+=
oc =572 5

32-60+24+6 1

12 16

L R = BE
6
Dist = AB +BC (AB = OB — OA)
AB=§—0.5:35_24=E
48 48 48
EC:OA—OC=0.5—1:3—_1=1m
6 6 3

. BC—EC4+BE=L it_16+11_27
3 48 48 48

—dist -2/, 11_38_19

48" 48 48 24

v=uti—2t+1

%=ut3—2t+1
dt

jds:ujt3dt—2jtdt+jdt

[s]yr = {%I —{%E Lt

Sye = (81-16)— (9-4)+(3-2)
=65-5+1=61cm

Srd
VvV, =-3 :6—1:61cm/s
t 1

avg
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Dive“oy i
) wvr Gynd. N~
1

Lovk @ i 7
ey er[
— N
=25—

Z’\72/r
hr
Let width of river =d
Vo =2.5sindi +2.5c0s |

*tl :tz,gr :2i

‘\71/ r

*Forl 3\7m =\7m/r +\7r
= (2.5sina +2)I +2.5¢c0sd]
>V, =0=>-25a+2=0
=sina=2/25=4/5=a=53°
tl:width: d !

Viy  2.5c0s(a =537)
t = d :>t1=1c.j—5

25x 3
5

For 2
Vir =25j,Vr =21

3\7m :Vm/r +\7r = 2|A+25j
S d

4d
o =metAC =2X2—5=?
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‘\owlg e
— O .
s ——
0 ) e
F— Reuwgnie —
OA:4O><4OSin(2><60):160X£:80J§
10 2
2,
e Cﬁ') tolligiom -
20 ] Uz 8J:
Dc ) E iy 1 3 3M[
Cownst:
A L{’- 0)
* For collision
# Syshell - SyT arget
uyt+%ayt2 = (uy; )t <=const. velo
. gt?
VSInGOt—7=9«/§t (D)
#Also Sy =0A  (intimet)
u,t =80+/3
V cos 60t =80+/3
\ét =803 =V 16043 2)
Using (2) in (1)
{160‘/_} sin 60t———9\/_ 3t
160 3 %—ﬁ_gx/ﬁt
240-5t% = 93t = 5t% +9\/3tx 240 =0
_~9\3£4243+4800 . _ 5043943
- 10 " 10
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LL&‘L T-Hle_.

5
—25=UX5+M

b
Bu=125-25=100
u=2m/s

2 12 2 5A2
SAB:VB UAZO 20 _20
2a 2(-10)

Dist. AC = AB +BA +AC
=20+20+25=65

Speedavg = % =13m/s

10.

%Ces'so

Find time using y axis
T 2using  2(25.4)sin30
gcosa  (9.8)cos30

T=23

*

1
R=S, =uT +§aXT2

R = (29.4c0s)24/3— 9 Si; 30 (23)

R:29.4x§x\2\/§
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38 1
—ngx\épd

R=88.2-294

=58.8m

11.

1. From fig
u, =ucosd

uy =-usin@

a, =-gsind
a, =—gcos
2. V, =0
3. Using xaxis
VX —UX
Ton =
PB ax
_ 0-ucos®

- —gsing
_ucosd
- gsiné
4, Also from fig.
S, =PC=hcosd
From AAPC It will be —ve

Alsos =ut +%ayt2 (—h cos @)

PB

PB

+hcosé@ =+usinéd

ucosH+gcose ucosé ?
gsing 2 gsinég
u2c039+gc059 u®cos? @

g 2 gZsin%e

2
he u_{“ cot 20}
g 2

hcos@ =

2gh
2+cot? O
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12.

AD

From AADB, tané@ =

= AB=htanéd

Similarly, CD = htané

= AC =AD+CD =2htané@
* From Projectile motion

2 aiin? 2
:u sin a,Rang(R)zu sin 2«

BD=h

h

Also from fig,
Rang (R) = AC

2 -
Mzzhtang

tan @

g
W 2sina cosa _Sﬁsinza
2

u u

Coso
X -
SinNa
= tan @ = 2cot a < Hence proved
u?sina
29
And as 2cota =tané

n
= cotf = tan 6

2 =tané@

As h=

J:h- tane = \‘ Yt+tan 8

p

tan®

2
2 ain? 2
As ho Usin a_u[ 2 }

29 29| Jartn’e
Xgh:uz(—x‘z J

4+tan’ @
2 gh(4 +tan’ 6)

> = Hence proved
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OA becomes incline plane, inclined at angle g wrt horizontal
* Also, let OA be X axis

* u, =ucos(a - f)
uy =usin(ax — f)
Angle of projection wrt incline = ¢ — g
From y axis
Tty - 2usin(a - p)
gcosp
. 2usin(a — f)
gcos
_ gtcosp
~2usin(a - B)

*

b%’ /;__..M"——————;‘ @ t9D=
A} \/\\\ \' =
Qeo’ o v Va
& R
\/[5

1 t?
*** Uy for both = 0 hence their S, will be equal at all instance { Sy =uyt +ant2 =Sy = _gT
=> CD = x =Horizontal dist. Below them
X =| —4t1 | +| 3t |

Dist=3t+4t=T7t
For particle A

Va=Vyd+Vuy ] at time
=3i+(U +at)]

=31 +(0+10t)]

Va =31 -10t)
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15.

F_or Particle B
Vg =Vg,l +VByj attime t
=41 +(ug, +ayt) ]
=—41 +(0-10t) |
Vg =—4i —10t]
AsV,is 1" to Vg
:\TA.\TB =0
(3 +10tj).(—4f —10tj) =0
—12+10t2 =0
2= 123 tzﬁ
Teqzs 5

G

5

= Dist="7t =

Do @ 7T 1

(efyex collicien )
Vax -'#0 B VBV <0

i
AB=K-} .
h h‘.

* AB motion

ayzg
1
As S=ut+Eat

9.2
H-h=0+=t
5 AB

S TG
g

* BD motion

Again,, Ug, =0,a,=0,S, =h

As 5:ut+%at

9
= Total time (tap) =T =tpg +1gp

T

Maximize
Use concept of maxima
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T:\E[m+m

AT 21, a1 T
Step 1E_\/;[§(H h)™<(0 1)+2(h)}

Z_E:\E{ZJ%U%}

Step -2 dar -0
dh

:\/az\/;l—h +2\1/5}:0
-1 1

:2m+2\/ﬁ:0
1 1
2h 2VH-h

Squaring both sides
E:L: H-h=h
h H-h

H:2hor£:1
H 2

N4

1. For AB-

*St line with +ve slope
Slope = dv_15-3_1
ds 60 5

Eq. of AB = y=mx+C
1

V ==(S)+3
5( )

:>V=§+3
5

As acc"(a) = vg
ds

Again it’s a st. line for a — s graph with slope = 2i5 and intercept :g
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2. For BC
dv

* St line with slope == =0
ds

As, accn (a) = Vﬂ
ds

= Acc"vs disp graph
S 3
25 5

LY

T =

sy
ial (8 RSP
b
Calculate of time

(i) tpp =7
v_S.,a_S+15

5 5
ds S+15 ds 1
ds _ = | 1
dt 5 S+15 5
LetP=S+ 15

%:1: ds =dp
ds

ds dp
=|—=LnP=Ln(S+15
:IS+15 I NP =Ln(S +15)

apg = ,agc =0

AS,
-[S +15 5
[Ln(S +15)]3° = g[t]&ﬂ

Ln(60+15) — Ln(0 +15) = (ae =0

5
Ln E :tﬂ
15 5
Ln5=tA—B

5

16="a8
5

tyg =8

(i) g =7?

Sec = Vac tac (.- of uniform velocity)
(120 — 60) = 1515

tge =4

=t=t,5+tzc =8+4=12sec
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17.

V- —u

We know = Iads =Area of a—s graph

*

We have to find velo. at 60 m hence area should be calculated till 60 m.
Area = %[a +22.5]60

Also from fig.

5’.\5_22.5—a
}253\ - BQ

=a=135

tan @ =

0
Hence Area = %(13.5+ 22.5)2&

2 2
VE-u-0" _ 36, 30-1080

V =4/2160 = 46.47m/s
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PYO : JEE-Main

(b)

From AAOB
AB OB
sin135  sin22.5
_sin135
sin22.5
_ sin(135) arc(AB)  sin(45) ><60><4
sin(22.5) 3n sin(22.5)  3n
4

OB

=47m

(b)

Given, v = b\/;or?j—);: b xY?

X t X]JZ b2t2
Or Jx’”zdx:jbdt:—zbt:x:—
. d 1/2 4

Differentiating w.r.t. time, we get

2 2
OI—XZbZtorv:E (t=1)
dt 4 2

(b)
Graphs in option (c) position-time and option (a) velocity- position are corresponding to velocity-
time graph option (d) and its distance-time graph is as given below. Hence distance-time graph
option (b) is incorrect.

distance

—

| time

(b)
We have, r=3ti +5t%j+ 7k

d?r A
So, — =30t
dt? )

d’r Al - .
Att=1:>F=BOJ:>a=3Oj
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(a)
At t=20sec

V, =at=5x20=100m/s

At t =1sec

[ - After falling there is not acceleration in horizontal direction]
:(O+g><l):lO><1:10m/S

So, V =100i —10j

Y
X
(©)
Time of fall of packet
Horizontal range = time x horizontal component of velocity(v)

..Required dlstance

=x%+h?

D
h )

= ( —VJ +h?
g

2
Or, D= 2hv +h?
g
Helicopter
(b)

Given: u=5jm/s

Acceleration, a =10i +4] and final coordinate (20,y,) intime t.

S, :uxt+%axt2 [ u, =0]

:>20=0+%x10xt2:>t:2s
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10.

11.

1 .2
Sy :Uth+ant
1, .2
Yo :5X2+§4X2 =18m

(d)

Given, Position vector,
I =cosoti +sin wt j

Velocity, v = % = co(—sin oti +Cos mt])

Acceleration,

g d o . ~

a=—Y = 2 (coswt i +sin (Dtj)
dt

a=-w’r

-.a is antiparallel to r
Also vr=0.vLlr

Thus, the particle is performing uniform circular motion.

(d)
r =157 +(4-20t%) ]

§ﬂ=30ti—40t]
dt

Acceleration , a = Z—r =30i — 40]

-.a=+30%+40% =50

(c)
From given equation,
V=K (yf + x])
ax _ Ky and dy _ KX
dt dt

dy

dt _x_dy
Now —==—=— dy = xdx
dx "y dx:yy

dt
Integrating both side

y?=x%+c

(d)

Equation of trajectory of projectile

gx? 1 10x?

y:xtane—1 =xtan45 —=

2 u%cos?0 2 u?cos? 45
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12.

13.

14.

15.

2
SV L SR P 0 L) B
Ay
2

2usin® _ (2)(20) _ 23

Time period, T = =

g +2(10)
V= ucose?+(usine—gt)] = [10\/§f+(10\/§—10\/§)}]

Momentum P = Mv =100+/2i +(100J§ - 200)]

(c)
Projection speed is v.
2 i ° 2 i °
v<sin{90 v©sin| 60
R G )
g g
R 2
R, B
(d)
As range and maximum height are equal
R=H
2
. 2v, v, :v_y,
g g
v :
:vX:%:ucosezwztan6:4
(©)
2a:n2
ucsin“o 2
As, H = o« ——0
e 29 sin?
1 sinB, U,
sin@ sin6; u,
:>sin61=ﬁxsin62=£x£=i
U, B2 2

So, 6, =sin™" [ij =45’

2

(@)

R u®sin20
g

For, R =R .«

sin20=1= 29:%
n u?
e:Z’SORmaX :EleOm
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16.

17.

18.

(b)

0snaA /r=10sec *

F

l-Ol Weos a
v, =20cosa[a, =0]
v, =20sina—gxt [ ay :—g]

=20sina—-10x10

=20sino—100
A% i —

So, tanB:_y zwztana_SseCa
Vy 20cosa

(a)

We know that if range is same for two angle of projection, then these angles must be complementary.

Let first angle of projection be '6' then second will be (90—6)

2 6in? u®sin?(90—06) u? cos?
< p, = U7sin eandhzz ( ) _ucos®0
29 29 29
2 ain? 2 2
h1h2:u > e’u e0s e,So, reason is correct
29 29
2 a; 2 .
— Jnm, _u 5|n60059:>4 hh, _4u”sinBcosH
29 29
2 (9qj 2 qin2
u®(2sin©cosO
= a4y = ) oy a i, -0 _ g

g g
So, assertion is correct

(d)
At maximum height inclination with horizontal be comes zero
So, t=USIN0 _\,_ 9 )

g sin@
Now, R=ucosOxT =R =ucos0x2t
:cose:i:cosez R§|ne [From (i)]

2ut sin@

2 2
:>tan6:29—t:>tan6=£:>cot6:l2
R R 20t
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(b)

For projectile motion,

2 .
Range R = M
g
As range is same for angle of projection 6 and 90—0. So, range is same for 42° and 48" .
u?sin0
Height in projectile motion, H = 5 —Hosin?0
g

So H is higher for 48" than H for 42°

(d)
Given: y = ax —px?
For maximum height, maximum value of y

dy _,_ d(ex=p<)

—0=a-2Bx=0
dx dx
x=2
2
e &) o) (2] ()
Y= e T\ ) ) T
So,Hmaxz(x—2
ap

Hence option (D) is correct answer.

(a)
Using principal of conservation of linear momentum for horizontal motion, we have
2mv,, = mu +mu cos60’
_3u
4
For vertical motion

A%

h=0+lgT2:>T= 2h
2 g

Let R is the horizontal distance travelled by the body.
R= \/XT+%(O)(T)2 (For horizontal motion)

2
R:VXT=3—U>< 2—h:>R=3\/§u
g 89
(©

Given, y = 2x —9x>

On comparing with,
2

(0),4

—xtano-——>2 |
y 2u2 cos? 0

We have,
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23.

24,

25.

tanezzorcose:i

N3

g =9 or 10

2u® cos’ O 2u2(1/J§)2 -

s.u=5/3m/s

And 9

(d)
R will be same for 6 and 90" —0
Time of flights:

f = 2usin© and

g
2U Siﬂ(goo _e) 2u Cose
t = =
’ g g

2usin®)( 2ucosO®) 2(u’sin20) 2R
Now, t;t, = g ; 25 . :?

(a)
On an inclined plane, time of flight (T) is given by

2usin®
gcosa
Substituting the values, we get
(2)(2sin157)  4sint5
gcos30”  10cos30°

T=

Distance, S= (2c0515° )T —%g sin30°(T)°

16sin%15

=<2c0515°)— 100c0s?30°

1010cos30°

4 sinl5 _(1

~x10sin 3o°]
2

= ]Ng—o_m =0.1952 = 20cm

(a)
2 .-
As we know, range R = u“sin26

And , area A = ntR?
~AcR?or,Accu®
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26.

27.

28.

29.

.ﬁ_u_f_H“_i
A, u; 2] 16

(b)

Given, t:\/;+4

= x=(t—4)" =t? -8t +16

:>d—X:2t—8:>d—X =2x4-8=0
dt dt|,_,

(©)

Let initial velocity of bullet =u
Final velocity of bullet = %

Distance travelled by bullet, s =4cm
Using, v? —u? = 2as

:{%jz =u*-2a(4)za=—<=—

Using v? —u? = 2as again
0=v*-2a(4+x)

2
= V7 :2[%}(4+x):>4.5=4+x:>x=0.5

(©)

In ‘t” sec, S=10m
So, 10= %atz ....... Q)

In next, ‘t” sec, suppose body travel S’ distance
Then, 1O+S':%a(2t)2 ....... (i)
Dividing (ii) by (i), we get

1048 1045240 = S'=30m

(d)
For bus P

X, (t)=at+pt?

V, (t)=a+2pt [ v, =dﬁ}

For bus Q
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30.

31.

32.

As, Vp(t)=Vq ()= a+2pt=Ff-2t
Sa—f=-2pt-2t=Ff—-a=2Bt+2t

(b)

We have given,

v = ot +pt?

:%:auﬁtz :Ids:j(atﬂitz)dt

2
at®> pt®
=S,-§ = —+—
2 3
1
As particle is moving in a straight line,

.. Distance = Displacement

4-1 8-1

.. Distance = a[ ]+B[ ] :3_°‘+E
2 3 2 3

(©)

For time interval t,

=v,=a [-u;=0]

For time interval t,

t, a
. altl = a2t2 Or, t_l = _2

2 &
(b)
x =at+bt? —ct®
Velocity, v = dx _ E(at +bt? + ct3)
dt dt
=a+2bt—3ct?

Acceleration, av =£(a+2bt—3ct2)
dt dt

Or 0=2b—-3cx2t .'.tz[BJ
3c
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2 2
and v=a+2b(£j—3c[£} = a+b_
3c Ko 3c

(d)

For constant acceleration, there is straight line parallel to t-axis on a—t

(d)
Position of the particle,
S = area under graph (time t=0 to 5s)

:%x2x2+2><2+3><1=9m

(b)
2

A%
Here, sS=— =S v
2a

2

i 80
=S, :Sl(\’_zj =8, = 40[—) =5, =160m
\% 40

(©)

Using equation, a = % and S= ut+%at2

45
Distance travelled by car in 15 sec = %%(15)2

675
=—m

2

Distance travelled by scooter in 15 seconds =30x15 = 450
(.- distance = speed x time)
Difference between distance travelled by car and scooter in 15 sec, 450—-337.5=112.5m
Let car catches scooter in time t;
% +45(t—15) =30t = 337.5+ 45t —675 =30t =15t =337.5

=t=22.5sec

(a)
Let the car turn of the highway at a distance ‘x’ from the point M. So, RM =X
And if speed of car in field is v, then time taken by the car to cover the distance QR =QM—xon
the highway.
QM —x .
—_ ) l
2v @

Time taken to travel the distance ‘RP’ in the field

2 2
, = Va4 +xT (i)
\%

4
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38.

39.

Total time elapsed to move the car from Q to P

QM—x+\/d2 +x°

A% A%

For ‘t’to be minimum g—t =0
X

Q

A 4

R

Y] ey —p—

Or x= d =

22_1 3

1 _1+L =0
VL 2 Jd?+x?
d

(©)

Let L be the length of escalator . Speed of man wrt escalator = tL =V,
1

Speed of escalator = tE =V,
1

Time taken when escalator is moving and man is also walking on it

_po_ b I vy, 11 bl
v,+v, ot L t, t t+t,
(a)
According to question, train A and B are running on parallel tracks in the opposite direction.
1.8 km/h 36 km/h

A —bH

|
O O O O

V, =36km/h=10m/s

€ B
72 km/h
O
Vg =—72km/h =-20m/s;Vys =-1.8km/h=-0.5m/s
Vman,B = Vmax,A +VA,B

=Voana +Va—V, =-0.5+10—(-20)
=-05+30=29.5m/s
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40. @
. _ (60+120)/1000km

! 80-30
_ (60+120)/1000km t, 11
2 80 +30 “t, 5
41.  (d)
\"
Q >P P
V]
60
\%

R (Observer)

Distance, PQ =V xt (Distance = speed xtime)
Distance, QR = V.t

0 Vv, xt
cos 60 =ﬂ;l= P :>vp=X
OR'2 vt 2
42. (©
—> 4 m/sec’ —> 2 m/sec’
Car Bus

200 m
Given, uc =Ug =0,ac =4m/s% ag =2m/s?
Hence relative acceleration , acg = 2m/sec?
Now, we know, s = ut +%at2 = 200 = %x 2t* [-u=0]

Hence, the car will catch up with the bust after time
t =10+/2 second

43.  (b)

u2

Maximum height =h=— [ - At maximum height v=0.So 0?> =u®—2gh

29
= U =./2gh

As, s= uth%at2
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44,

]
[\ e

l=t,£t

Let t, and t,be two roots of above equation.

¢ 1/29h+’29h—4xgxh
Then, -2 = 2_3

b J2gh —\/2gh—4xgx2

4gh
20h+\73" a4z

Jagh - [ B2

(d)

From equation of motion, s = uH%gt2

.. hnh :
For first E,E=—gtl ....(1)
For total height h,

1 .
hzzg(tﬁtz)2 ..(ih)

ty

Divide equation (ii) by (i) we have 1 = 5
(t,+15)

i— tl '1+t_2—\/§

V2ot Tt

t—lzizn2 :(Ji—l)tl
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45.

46.

47.

48.

49.

50.

(d)

Time taken by all to reach highest point, t = v
g

Frequency of throw, n=

1
t

< |a

:v:g ()

n
The maximum height the balls can reach,

2
H ? (gj
\'% n

g .
=—==>~2_=_=_ from equation (i
max Zg 29 2n2 q ()

(a)
2h

From h—ut+ gt =>t= |—

Time taken by mango, t= ’ 2X19 6

Distance x =vt=gx2=5m

()
At t=0, u=100m/s downwards
For 0 to 10 sect

v=u—-gt=-100-10x10=-200m/s

So the curve will be straight line with —100 as intercept

for 10 to 20 sec, v=0, so option (A) is correct

(d)

Let us suppose both ball meat at t =t sec at high h below.

For 'A’, h :%gtz :>—80:_El><10xt2

=12 =16 =t = 4sec
For ball ‘B’

h:u(t—Z)—%g(t—Z)2 :—80:—2u—%g><22

= 80 =-2u—20=2u =60
(©)

(d)
Using H =%gt2 =2H/g=t*

- u=30m/s
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:9'98;2:t2:t:\/§S

For first drop, t=0. For second drop, t = At. For third drop , t =2At
Let h be the distance travelled by second drop when third drop begins to fall.

h=2g(vZ-at) =0=2g(v2-at) = at-

-

2
1 1V 1 1 98
ch=tglvzo 2] =1io8xi=28_245m
29( ] ST

$2) 2

Height of second drop from floor
H-h=9.8-2.45=7.35mm

51. (©
Given
Initial velocity of hot air balloon, u=10m/s

For stone
Using,
v=10m/s
%‘I: )
75m 2= 10nvg?
1
h=ut+=qgt
> g

= 75= —1Ot+%gt2

= 75=-10t +5t°

=12 -2t-15=0=t =5sec
Height of balloon
H=vt+75=H=10x5+75=125m

52.  (b)
Top of Building

‘¢u=0

5m

- = T ————— l Stone-1

u,=10m/s
ol e (from u?—u? = 2g x 5
Stone-2
h
A 4 v
Bottom of Building
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For stone —1,20+h =10t +%gt2 ...... (i)

And for stone -2, h = %gt2 ...... (ii)
Putting value of h from eq.(ii) in eq. (i)

20+%th :10t+%gt2 S t=2s

Therefore, h = %gt2 = % x10x 2% =20m

.. Height of the building =h +25=20+25=45m

(©)

For upward motion of helicopter,

vZ =u? +2gh = v? =O+2gh:>v=\/29_h

Now, packet will start moving under gravity

Let ‘t’ be the time taken by the food packet to reach the ground.

s:ut+lat2
2

= -h =«/Zght—lgt2 :>lgt2 —J2ght—h=0

«/29 +,’Zgh+4x x h \/ﬂ
Ort—

Xi

2

=\/E(1+«/§):>t=3.4\/5
g g
(a)

For uniformly accelerated or deceleration motion v
graph will be a parabola.

Initial velocity downwards so negative after collision, it reverses its direction with smaller value
hence velocity is upwards

Further, v? =2g x(gj =gd;

(Vlj=\/§ or v=v\/§:v-:%

As the direction is reversed and speed is decreased so graph(a) correctly depicts these conditions.

2 =u?+2gh equation is quadratic hence v—h

(3)

S 200+ 200+ 2™*200
Va — total —

Ttotal 238
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56.

57.

58.

59.

60.

4004100 714

=3m/s
238 238
(18)
o 1/3+173+11/3
Va T3 T T
total 4~ 4
3v; 3v, 3vg
B I B 1
1 1.1 1(1+1+1j
3lv, v, vy) 3l11 22 33
181,
14547 6+3+2 11
2 3
(580)
For particle ‘A’ For particle ‘B’
X =—3t* +8t +10 Yy =5-8t°
va =(8-6t)i Ve =—24t°]
Att=1sec

va =(8-6t)i=2i and vg = —24]
S VBIA =—VA + VB =21 — 24]

-, speed of Bw.r.t. A,«v =22 +24?

=\/4+576 =~/580

~.v=580(m/s)
(15 0r 75)
2 -
We know that range (R) = u“sin26
g

UZSin2(45O) u? R u® u%sin20
So, R, —— ") W _ R_u7_u7sin20
g g 2 29 g

= sin 29:%: 20=30",150" = 0=15",75

1)
Here, time of flight is same
So, vertical component of velocity is same

Therefore H,, is same.

(60)
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If fighter, jet and bullet have same horizontal component of velocity , then it will strike after some
time as shown above because horizontal displacement of both of them in given time interval will

61.

62.

always be same.
I.e. v=ucos0=200=400co0s6

:>cose=1:>6=600

(20)

Let :zlzaf+a]['.'6:45° =u, :uy]
Then, Vi =ai +(a—2x10)]
=ai+(a-20)]

As, |[Vr|=20

= a? +(a—20) =400

—a’ +a’ +400—40a =400 = 2a” —40a =0
=a*=20a=0=a(a-20)=0

—a=20.50, V, =1/20%+20? =202

1
2.2 =2 800x=
e =Vi sin® 45 _ 2 _20m
29 2x10
®)
Change in momentum,
542
45° 45° 52

AP =|3|3 —|3A
AP = mV cos i —mVsin 6]
= m(5«/§cos45°f—5\/§sin 45°)

1- 1 - 1
:—m(Sﬁxﬁl+5\/§xﬁjj:—2mx5\/§x$
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63.

64.

65.

66.

67.

|AP| = 2x(5x107° ) (5) =5x10*kgms ™

S.X=5

(3)

If speed becomes ‘n’ times by keeping ‘a’ constant, then stopping distance becomes n? times

Here, V >V /3

So, S—>§ i.e. zm i.e. 3m
9 9

(100)
d—V:5;Asa:d—V:d—V><§:Vd—V
ds d ds dt ds
dv 2

So, a= vE =20x5=100m/sec
(1)

As v2 =Uu? +2ax

At point ‘A’

40 =u?+2a.10 ..(0)

At point ‘B’

60 = u? +2a.20 ...(iD)
Substracting (ii) from (i), we get
a=1m/s’

(12)

Acceleration equals to a = vj—v
X

az\;ﬂ&vzx/5000+24x
X

dv

1 12
= —=— "  x2=—"____
dx  24/5000 + 24x 5000 + 24x

dv 12 2
= a=v— =+/5000+ 24X x ——ou— =12m/s
dx /5000 + 24x

(0

Distance travelled = Area of speed-time graph
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68.

69.

70.

:%x5x8:20m

©)

Distance X varies with time t as x> =at? + 2bt +¢

:>2xd—x=2at+2b
dt

dx (at+b)  d?x (dsz
—= =X +| —
dt X diz  (dt

(@) _(at+bY
:>d2x_ dt ) X

dt? X X

:>xd—X:at+b:>
dt

ax? —(at+b)* ac—b?

x3 X3

=a o X Hence, n=3

(392)
19.6 “V=u-gt
ta:E:9—':28 O=u-gt
g =t=u/g
ty =(6-2)s= | 2max
g
n_16x9.8 392
max 2 5
(5)
vi=u?+2gh’
g> =0%+2gh'
h=2
2
So, reg. height
~10-h'=10-9
2
u=90
vl ¢
10m

¥V=8 |
10

=10-=—=>5m
2
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(6)

Let the two ball meet at t=tsec
Then, first ball get ‘t” sec and second ball get (t—2) sec and they will meet at same height

So, h,=h,

:>50t—%gt2:50(t—2)—%g(t—2)2

:>O=—100+%g[t2 —(t—2)2}:> 20=4t—4
= 24=4t=t=06sec

®3)

Taking upward direction as positive, we get

h:uxG—%g.62—>Casel
1 2
h:—u><1.5—§g><1.5 — Case Il
1 >
h:—Egt — Case Il

So, 6u —%g.GZ =—-1.5u —%g x1.52 [ from | and I1]

7.5u=lg(62—1.52);u :M:}u _A5 s
2 2x7.5 2

Again, —%gt2 =6u—%g.62 [from I and 1]

t? =_—2(6u—lgx36j
g 2

t? _2 GXE—lx10x36
10 2 2

2

=7 =~ (135-180) = 1" = +2x45

=t?=9=t=3s

(8)

Let the ball takes time to reach the ground

Using, S= ut+%gt2 :>S:O><t+%gt2

= 200 = gt* [ 25=100m]

—t= /@ ...... (i)
g

In last %s body travels a distance of 19 m, so in [t —%) distance travelled =81

2 2
Now, lg(t—lJ =81:>g(t—1] =81x2
2 2 2
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=13 )= (22 1 d - (Va0 )
9

2 g 2 Jo
Using (i)
= o =2(10v2-92)= g =212
-.g=8m/s?
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PYO : JEE-Advanced

(A)

For a body thrown vertically upwards acceleration remains constant (a=-g) and velocity at

anytime t is given by V =u—gt. During rise velocity decreases linearly and during fall velocity
increases linearly and direction is opposite to each other.
Hence graph (a) correctly depicts velocity versus time.

(B)

y; =10t —5t?;y, = 40t — 5t

For y, =—-240m,t =8s

-y, -y, =30t for t<8s.For t>8s,

Yo — Vi =24O—4Ot—%gt2

(©)

Let t be time to reach maximum height. Then 'nt" is total time of flight

1
So, h=ut—=qgt

29

1 2
And H+h=Eg(nt—t)

= H+ut—lgt2 :lgtz(n—l)2
2 2
t=t

¥ 1a
t=0
H

1 -, 1 ,, 1 5 2
=>H+ut——gt"=—qgt°n“+—gt° —gnt
29 29 29 g

2
= H+ut—gt? :gtz(%—n}

= H+u—2—g=g—uz(n2—2n)

g g 29
u2

=H=—n(n-2)
29

= 2gH =u’n(n-2)
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(B)
(A)
(B)

(ABCD)
According to questions, equation

dy 1, dx dx
—:—.2x—=x—:>vy =XV,
dat 2 dt dt

Now differenciate wrt time
2 2 2
dy d_xJ{dx)

X
dt? dt?

a :;I—)t(.vx +Xa,

) dt

y

2
a, = Vy +Xa,

(@) If a, =1 and particle is at origin (x =0,y=0)
a, =V
a, =1°=1m/s’
(b) a, =0
a, =V;+xa, =>a,=V,’
If a, =0,v, =constant =1=>a, =1 =1
(c) Att=0,x=0,v, =xv,
Speed =1; v, =0=v, =1
(d) a,=0impliesthatat t=1s
a, =V,” +Xa, =V, =xv, =>a, =V’

If a, =0=V, =Constant initially (v, =1)=a, =1*=1
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At t=1sec
vy :0+ay><t:1><l:l

v _ .
tan © =— = x (6 — angle with x — axis)
VX

V o
.'.tan6=—y=%:>e=45

VX

4)

Let uj,u,,Us,...... be the horizontal velocity of the projectiles and t,,t,,t5,..... be the time taken as
shown in figure

Uo u /o 2
uy/a /o
0, 3 2 NE I N\
u, U,y Uy u,

total displacement

Average velocity = -
total time taken

2usin 0

Time of flight T =

For given value of 6, value of T will change with the value of u.
.. Total time taken =t; +t, +t;+......

L4

=t +=+—=+.... = =
1+0L o’ 1 (a—1)

Total displacement = u,t; +u,t, +ust; +......

u, t;, u, t u,t u,t,a
=u1t1+gl.al+—é.—12+ ....... = 11 = 121
o’ a 1- L (a®-1)
2
(04
total displacement

.. Average velocity = -
total time

u,t,a? y (a-1)  uo
(0(2 —]_) tlot a+l

According to questions, average velocity =0.8V,

orogv, =% i
1 a1 0

vt (ii)
tl

From equation (i) and (ii)
a=0.800+0.8 or .—0.800=0.8

Or 0.20.=08 or =22 _4
0.2
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10.

11.

12.

13.

14.

(0.95)

After entering in new region, time taken by projectile to reach ground is given as

t= 0.9

gx2g g

2h _\/2><0.81><u23in26_ usin @

geff

So, horizontal displacement done by projectile in new region is given as

X =0.9x% usmexucose=0.9(9j
g 2

Now, new range = %+ 0.92 =0.95d

(5)

As ‘A’ see the motion of ‘B’ 1 rto VA.
So, Vp =VgC0s30T ... (i)
Now, \75A = \78 —vA

=vg €0s30i +vgSin30j— v i

= vgsin30j [From (i)]
VA - on -
= -sin30 From (i
9530 ] [ 0]
on A%
=v,tan30 j=—2 =100m/s
A J Jé
So, t, =ﬂ=@=55ec
|VBA| 100
(20r8)

apt. apt’
@ (wBJ ® (2(a+ﬁ)j

displacement =0

1:1
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15.

16.

17.

18.

19.

T
@ 0=45 (b)2mls
(i) 1s.; (i) (5V3,5)

X u?sin 2o b ucos(a+9)
gcoso cos 0

u=7.29m/s, t=1s.
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